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Topic:­ General Science
1)

Question Stimulus :­

The working of human stomach was discovered by / मॊनश पॕट कॎ कॊय挀��णॊलॎ कॕ बॊरॕ म捀� ________
नॕ पतॊ लगॊयॊ थॊ।

Charles Darwin / चॊȀ挀� डॊोश挀�न

Charles Babbage / चॊȀ挀� बॖबॕज

William Beaumont / ोशोलयम Āॐमख़टं

William Harvey / ोशोलयम ऻॊश捀�

Correct Answer :­William Beaumont / ोशोलयम Āॐमख़टं 

2)

Question Stimulus :­

World water day  is observed on / ोश慀� जल ोदशऺ मनॊयॊ जॊतॊ ऻॖ_______।

March 21 / मॊच挀� 21

March 22 / मॊच挀� 22

June 21 / जॐन 21

June 22 / जॐन 22

Correct Answer :­March 22 / मॊच挀� 22 

3)

Question Stimulus :­

  An image is formed behind the mirror. The image is erect and of the same size as of the object. This image is
formed by / �ोतोबंब, दप挀�ण कॕ पॎछॕ बनॊ ऻॖ। �ोतोबंब, ऺॎधॊ और ऺमॊन आकॊर कॊ ऻॖ। यऻ �ोतोबंब इऺकॕ Āॊरॊ बनॊयॊ गयॊ ऻॖ

Convex mirror / उ牀� तल दप挀�ण

Concave mirror / अशतल दप挀�ण

Plane mirror / ऺमतल दप挀�ण

Both (A) and (B) / (A) और (B) दख़नख़ ं

Correct Answer :­Plane mirror / ऺमतल दप挀�ण 



4)

Question Stimulus :­

The instrument used to measure the speed of wind is called / शॊयॏ कॕ शॕग कख़ मॊपनॕ कॕ ोलए
�यख़ग ोकयॊ जॊनॕ शॊलॊ यंĀ कऻलॊतॊ ऻॖ

Ritcher scale / Āर� टर पॖमॊनॊ

Anemometer   / एनॎमख़मॎटर (पशन शॕगमॊपॎ)

Barometer   /बॖरख़मॎटर (शॊयॏदॊबमॊपॎ)

Thermometer  /थमॊ挀�मॎटर

Correct Answer :­Anemometer   / एनॎमख़मॎटर (पशन शॕगमॊपॎ) 

5)

Question Stimulus :­

Identify the INCORRECT statement / गलत कथन पऻचॊोनए

Virtual images can be seen on the screen / Ȁ 搀�ॎन पर आभॊऺॎ �ोतोबंबख़ ंकख़ दॕखॊ जॊ ऺकतॊ ऻॖ।  

Light can travel along straight lines / �कॊष, ऺॎधॎ रॕखॊओ ंम捀� यॊĀॊ कर ऺकतॎ ऻॖ।  

A shining surface acts  as a mirror / चमकदॊर ऺतऻ, दप挀�ण कॎ तरऻ कॊय挀� करतॎ ऻॖ।   

Concave lens forms virtual and erect image / अशतल लॕ� ऺ , आभॊऺॎ और ऺॎधॊ �ोतोबंब बनॊतॕ ऻĀ।  

Correct Answer :­Virtual images can be seen on the screen / Ȁ 搀�ॎन पर आभॊऺॎ �ोतोबंबख़ ंकख़ दॕखॊ जॊ ऺकतॊ ऻॖ।   

6)

Question Stimulus :­

It is advised to plant eucalyptus trees all along sewage ponds. This is because these
trees / यॕ ऺलॊऻ दॎ जॊतॎ ऻॖ ोक नॎलोगरॎ कॕ पॕी, शॊोऻतमल तॊलॊबख़ ंकॕ ोकनॊरॕ लगॊए जॊएं। ऐऺॊ इऺोलए �ख़ोंक यॕ
पॕी ­

increase the aesthetics / ऺग़दंय挀� म捀� श॑Ā﹀� करतॕ ऻĀ।   

remove the bad odour  / बॏरॎ गंध कख़ दॐ र रखतॕ ऻĀ। 

absorb CO2  /  कॊब挀�न डॊइऑ�ॊइड कख़ अशषख़ोहत करतॕ ऻĀ। 

absorb waste water and release pure water vapour into the atmosphere. / यॕ भॏ� तषॕह जल कख़ ऺख़खतॕ ऻĀ और
शॊतॊशरण म捀� षॏ﹀� जल शॊȀ कख़ Āरलॎज करतॕ ऻॖ।   

Correct Answer :­absorb waste water and release pure water vapour into the atmosphere. / यॕ भॏ� तषॕह जल कख़
ऺख़खतॕ ऻĀ और शॊतॊशरण म捀� षॏ﹀� जल शॊȀ कख़ Āरलॎज करतॕ ऻॖ।    

7)

Question Stimulus :­

The main cause of wind movements is the / पशन ऺंचलन कॊ मॏȀ य कॊरण ऻॖ



Air pressure / शॊयॏदॊब

Radiation / ोशोकरण

Uneven heating of the earth / प॑Āॎ कॊ अऺमॊन तॊपन

Evaporation / शॊȀ पन

Correct Answer :­Uneven heating of the earth / प॑Āॎ कॊ अऺमॊन तॊपन 

8)

Question Stimulus :­

Baking soda is used to neutralise the effect of ant bite. The ant bite contains / बॕोकंग ऺख़डॊ कॊ �यख़ग चॎटंॎ कॊटनॕ कॕ
�भॊश कख़ बॕअऺर करनॕ कॕ ोलए ोकयॊ जॊतॊ ऻॖ।  चॎटंॎ कॊटनॕ ऺॕ _________ 牀� शचॊ म捀� पĀँच जॊतॊ ऻॖ। 

Acetic acid / एोऺोटक अĀ

Formic acid / फॗोम挀�क एोऺड

Sodium carbonate / ऺख़ोडयम कॊब掀�नॕट

Sodium bicarbonate / ऺख़ोडयम बॊईकॊब掀�नॕट

Correct Answer :­Formic acid / फॗोम挀�क एोऺड 

9)

Question Stimulus :­

 Lichen is an example of  / लॊइकॕन इऺकॊ उदॊऻरण ऻॖ

Parasitic relationship /  परजॎशॎऺंबंध

Symbiotic relationship / ऺऻजॎशॎ ऺंबंध

Heterotrophic relationship / परपख़हॎ ऺंबंध

Saprophytic relationship / म◌॑तख़पजॎशॎ ऺंबंध

Correct Answer :­Symbiotic relationship / ऺऻजॎशॎ ऺंबंध 

10)

Question Stimulus :­

This indicator turns solutions which are acidic to dark pink and solutions which are basic to green. Identify  the
indicator / यऻ  ॐऺचक ोशलॕय कख़, जख़ोक अĀॎय ऻॖ गऻरॕ गॏलॊबॎ रंग म捀� बदल दॕतॊ ऻॖ एशं ोशलॕय जख़ोक Āॊरॎय ऻॖ, कख़ ऻरॕ रंग म捀�
बदल दॕतॊ ऻॖ।  ॐऺचक कख़ पऻचॊन捀� :

Litmus / ोलटमऺ

Turmeric / ऻȀॎ

China rose / चॊइनॊ रख़ज

Phenolphthalein / फॎनॗल璀�थॕोलन



Correct Answer :­China rose / चॊइनॊ रख़ज 

11)

Question Stimulus :­

The pancreatic juice is capable of / अ煀� � यॊषय रऺ इऺम捀� ऺĀम ऻॖ ­  

breaking down carbohydrates and fats into simpler substances / कॊब掀�ऻॊइड挀� ॕट और शऺॊ कख़ ऺरल पदॊथ掀� म捀�
ोशभॊोजत करनॊ  

breaking down carbohydrates, proteins and fats into simpler substances / कॊब掀�ऻॊड挀� ॕट, �ख़टॎन और शऺॊ कख़
ऺरल पदॊथ掀� म捀� ोशभॊोजत करनॊ 

breaking down proteins and fats into simpler substances / �ख़टॎन और शऺॊ कख़ ऺरल पदॊथ掀� म捀� ोशभॊोजत करनॊ  

breaking down only fats into simpler substance  ोऺफ挀�  शऺॊ कख़ ऺरल पदॊथ� म捀� ोशभॊोजत करनॊ

Correct Answer :­breaking down carbohydrates, proteins and fats into simpler substances / कॊब掀�ऻॊड挀� ॕट, �ख़टॎन
और शऺॊ कख़ ऺरल पदॊथ掀� म捀� ोशभॊोजत करनॊ  

12)

Question Stimulus :­

A compact disc (CD) is capable of reflecting light .The reflected light consists of / एक
कॗĀॖĀ ोडȀ (ऺॎडॎ), परॊशतĀ �कॊष कख़ दषॊ挀�तॎ ऻॖ। परॊशोत挀�त �कॊष म捀� ऻख़तॕ ऻĀ?

Seven colors / ऺॊत रंग

Five colors / पॊंच रंग

Three colors / तॎन रंग

Eight colors / आठ रंग

Correct Answer :­Seven colors / ऺॊत रंग 

13)

Question Stimulus :­

Thomas Alva Edison invented the /  थॗमऺ अ��ॊ एडॎऺन नॕ_________ कॊ आोश戀�ॊर ोकयॊ।

Electromagnet  / ोशद्यॏ त चॏĀक

Electric bulb / ोबजलॎ कॊ बȀ

Circuit / ऺोक挀� ट

MCB / एमऺॎबॎ

Correct Answer :­Electric bulb / ोबजलॎ कॊ बȀ 

14)

Question Stimulus :­



The electric bulb starts glowing because / ोबजलॎ कॊ ब础� ब जलनॊ षॏ� करतॊ ऻॖ � यख़ोंक

of the presence of  air inside it / उऺकॕ भॎतर उपĀȀथोत ऻशॊ कॕ कॊरण

light falls on it /  उऺ पर �कॊष पीतॊ ऻॖ 

the filament of the electric bulb gets heated to a very high temperature / ोबजलॎ कॕ ब础� ब कॊ तंतॏ उ� च तॊप पर
गरम ऻख़ जॊतॊ ऻॖ 

the filament inside burns /  अंदर तंतॏ जलतॊ ऻॖ

Correct Answer :­the filament of the electric bulb gets heated to a very high temperature / ोबजलॎ कॕ ब础� ब कॊ तंतॏ
उ� च तॊप पर गरम ऻख़ जॊतॊ ऻॖ  

15)

Question Stimulus :­

______________ are called spherical mirrors /    _____________   गख़लॎय दप挀�ण कऻलॊतॕ ऻĀ।

Convex mirrors only / ोऺफ挀�  उ牀� तल दप挀�ण

Concave mirrors only / ोऺफ挀�  अशतल दप挀�ण

Convex and concave mirrors / उ牀� तल और अशतल दप挀�ण

Plane mirrors / ऺमतल दप挀�ण

Correct Answer :­Convex and concave mirrors / उ牀� तल और अशतल दप挀�ण 

16)

Question Stimulus :­

Blood contains cells which help fight germs. These are  the  / र� त म捀� कख़ोषकॊएँ ऻख़तॎ ऻĀ जख़ रख़गॊणॏओ ंऺॕ लीनॕ म捀� मदद
करतॎ ऻĀ। शॕ ऻĀ

White blood cells / ऺफॕद �ोधर कख़ोषकॊएँ 

Red blood cells / लॊल �ोधर कख़ोषकॊएँ

Platelets / 諀ॕ�टलॕट्ऺ (लघॏ पो熀�कॊय捀�)

Plasma / 璀� लॊȀ मॊ

Correct Answer :­White blood cells / ऺफॕद �ोधर कख़ोषकॊएँ  

17)

Question Stimulus :­

Bile juice, which plays an important role in the digestion of fats in the human body,
is produced by the / ोप礀� रऺ ऻॖ, जख़ मॊनश षरॎर म捀� शऺॊ कॕ पॊचन म捀� एक मऻĀपॐण挀� भॐोमकॊ ोनभॊतॊ ऻॖ, ____
Āॊरॊ ोनोम挀�त ऻॖ

gall bladder /  ोप礀�ॊषय 

liver / यक॑त



small  intestine / छख़टॎ आंत

stomach / आमॊषय

Correct Answer :­liver / यक॑त 

18)

Question Stimulus :­

Identify which among the following can neutralize an acid? / पऻचॊोनए ोक ोनȀ न म捀� ऺॕ अȀ ल कख़
कग़न ोनȀ �भॊोशत कर ऺकतॊ ऻॖ?

Water / जल

Magnesium hydroxide /  मॖ煀� नॎोषयम ऻॊइड挀� ॗ� ऺ ॊइड

Vinegar / ोऺरकॊ

Sodium chloride / ऺख़ोडयम � लख़रॊइड

Correct Answer :­Magnesium hydroxide /  मॖ煀� नॎोषयम ऻॊइड挀� ॗ� ऺ ॊइड 

19)

Question Stimulus :­

Activated sludge comprises of /  ऺो搀�ोयत आपंक म捀� षॊोमल ऻख़तॊ ऻॖ।

10 %water / 10% पॊनॎ

75 %water / 75% पॊनॎ

95 %water / 95 % पॊनॎ

50 %water / 50 % पॊनॎ

Correct Answer :­95 %water / 95 % पॊनॎ 

20)

Question Stimulus :­

Identify the INCORRECT statement on heat / ऊȀ मॊ पर गलत कथन कख़ पऻचॊोनए

Heating causes rise in temperature / ऊȀ मॊ ऺॕ तॊपमॊन बुतॊ ऻॖ।  

Solids undergo maximum expansion due to heat / ठख़ऺख़ ंम捀� ऊȀ मॊ कॕ कॊरण अोधकतम ोशȀ तॊर ऻख़तॊ ऻॖ।  

On heating, substances undergo physical changes / गरम करनॕ पर‚ पदॊथ掀� म捀� भग़ोतक
पĀरशत挀�न ऻख़तॕ ऻĀ।

On heating, some substances catch fire / गरम करनॕ पर‚ कॏ छ पदॊथ掀� म捀� आग लग जॊतॎ ऻॖ।

Correct Answer :­Solids undergo maximum expansion due to heat / ठख़ऺख़ ंम捀� ऊȀ मॊ कॕ कॊरण अोधकतम ोशȀ तॊर ऻख़तॊ
ऻॖ।   

21)



Question Stimulus :­

Tooth decay is caused due to / दंत Āय कॊ कॊरण ऻॖ

Acid formed by breakdown of sugars on the leftover food by bacteria / बॖ� टॎĀरयॊ
Āॊरॊ बचॕ Āए भख़जन पर षॏगर कॕ अनॏोशभॊजन ऺॕ बनॊ अȀ ल

Base formed by breakdown of sugars on the leftover food by bacteria / बॖ� टॎĀरयॊ
Āॊरॊ बचॕ Āए भख़जन पर षॏगर कॕ अनॏोशभॊजन ऺॕ बनॊ Āॊरक

Bad eating habits / खॊनॕ कॎ बॏरॎ आदत捀�

Gum disease / म ॐऺड◌़◌ॕ कॎ बॎमॊरॎ

Correct Answer :­Acid formed by breakdown of sugars on the leftover food by bacteria /
बॖ� टॎĀरयॊ Āॊरॊ बचॕ Āए भख़जन पर षॏगर कॕ अनॏोशभॊजन ऺॕ बनॊ अȀ ल 

22)

Question Stimulus :­

Which among the following is NOT an example of chemical change? / ोनĀ म捀� ऺॕ कग़न,  रॊऺॊयोनक पĀरशत挀�न कॊ एक
उदॊऻरण नऻॎ ंऻॖ।

Respiration / � शऺन

Digestion / पॊचन

Crystal formation / ो搀�Ȁल रचनॊ

Rusting / िंग लगनॊ

Correct Answer :­Crystal formation / ो搀�Ȁल रचनॊ 

23)

Question Stimulus :­

The device used by a doctor to amplify the sound of the heart is / ऻॊट挀�बॎट (Āदय 旀ं�द) कॎ 腀�ोन कख़ पĀरशोध挀�त करनॕ कॕ
ोलए डॗĀर Āॊरॊ इऺ यंĀ कॊ �यख़ग ोकयॊ जॊतॊ ऻॖ  

Glucometer / 煀� लॐकख़मॎटर

Stethoscope  / Ȁॕथख़Ȁ कख़प  

Ventilator / श捀�ोटलॕटर

Incubator  /  इन�ॐबॕटर

Correct Answer :­Stethoscope  / Ȁॕथख़Ȁ कख़प   

24)

Question Stimulus :­

A convex lens / उ牀� तल लॕ� ऺ

Diverges light falling on it / उऺ पर पड◌़ रऻॕ �कॊष कख़ अपऺॊĀरत करतॊ ऻॖ



Converges light falling on it / उऺ पर पड◌़ रऻॕ �कॊष कख़ अोभऺॊĀरत करतॊ ऻॖ

Has no effect on the light / कॊ �कॊष पर कख़ई �भॊश नऻॎ ंपीतॊ 

Bends it outwards / उऺॕ बॊऻर कॎ तरफ झॏकॊतॊ ऻॖ

Correct Answer :­Converges light falling on it / उऺ पर पड◌़ रऻॕ �कॊष कख़ अोभऺॊĀरत करतॊ ऻॖ 

25)

Question Stimulus :­

In neutralization reaction, / ोनȀभॊशन अोभो搀�यॊ म捀� :

A salt is formed / लशण बनतॊ ऻॖ

Acid is formed / अĀ बनतॊ ऻॖ

Base is formed / Āॊर बनतॊ ऻॖ

Acid and base are formed / अĀ एशं Āॊर बनतॊ ऻॖ 

Correct Answer :­A salt is formed / लशण बनतॊ ऻॖ 

Topic:­ General Hindi
1)

Question Stimulus :­

पॏ擀�क + आलय = पॏ擀�कॊलय ­ ोकऺ ऺंोध कॊ उदॊऻरण ऻॖ?

गॏण

दॎघ挀�

श॑Ā﹀�

यण

Correct Answer :­दॎघ挀� 

2)

Question Stimulus :­

ोकऺ षĀ म捀� ‘ईलॊ’ �婢�य नऻॎ ंऻॖ

ोशहॖलॊ

जऻरॎलॊ

पथरॎलॊ

चमकॎलॊ

Correct Answer :­ोशहॖलॊ 

3)



Question Stimulus :­

‘गऻरॊ͛ कॊ ोशपरॎतॊथ挀�क षȀ द बतॊइयॕ।

घनॊ

उथलॊ

ऺघन

गख़चर

Correct Answer :­उथलॊ 

4)

Question Stimulus :­

‘ओठ ोचपकॊनॊ’ मॏऻॊशरॕ कॊ अथ挀� ऻॖ­

खॐब मॎठॊ ऻख़नॊ

षॊंत ऻख़ जॊनॊ

बॊत छॏपॊनॊ

मॏंऻ पर ऻॊथ रख लॕनॊ

Correct Answer :­खॐब मॎठॊ ऻख़नॊ 

5)

Question Stimulus :­

‘गॊँठ कॊ प� कॊ͛͛ मॏऻॊशरॕ कॊ अथ挀� ऻॖ

उड◌़तॎ ोचोड◌़यॊ पऻचॊननॊ

ोछपॊ Āआ गॏणशॊन 磀� यĀĀ

धनशॊन ऻख़नॊ

धन ऺँभॊल कर रखनॊ

Correct Answer :­धन ऺँभॊल कर रखनॊ 

6)

Question Stimulus :­

ोनĀोलĀखत शॊ� कॊ षॏ﹀� �प ऻॖ –

अब आप जॊ ऺकतॊ ऻॖ।

अब आप जॊ ऺकतॊ ऻख़।

अब आप जॊ ऺकतॕ ऻख़।



आप अब जॊ ऺकतॕ ऻख़।

अब आप जॊ ऺकतॕ ऻĀ।

Correct Answer :­अब आप जॊ ऺकतॕ ऻĀ। 

7)

Question Stimulus :­

“ोपĀॊ灀�ॊ” षĀ ोकन दख़ षĀख़ ंकॕ मॕल ऺॕ बनॊ ऻॖ

ोपत॑ + आ灀�ॊ

ोपĀ + आ灀�ॊ

ोपतर + आ灀�ॊ

ोपत + आ灀�ॊ

Correct Answer :­ोपत॑ + आ灀�ॊ 

8)

Question Stimulus :­

‘ोलखॊई͛ षȀ द म捀� �यॏ� त �牀� यय पऻचॊोनयॕ ‐

ई

आई

इ

ोल

Correct Answer :­आई 

9)

Question Stimulus :­

“जख़ ठॎक ऺॕ कत挀�巀� पॊलन न कर ऺकॕ” इऺ अनॕक षĀ कॕ ोलए उोचत एक षĀ  चॏन捀�

क嬀�नॊतॎत

ोकंकत挀�巀�ोशमॐु

क॑तĀ

कत挀�巀�ॊतॎत

Correct Answer :­ोकंकत挀�巀�ोशमॐु 

10)

Question Stimulus :­



षॏ﹀� शत挀�नॎ कॊ चयन कॎोजए।

अधख़पतन

अध:पतन

आोध:पतन

आध:पतन

Correct Answer :­अध:पतन 

11)

Question Stimulus :­

͚ोजऺ Ȁ Ȁॎ कॊ पोत बॊऻर ऻख़͛ कॕ ोलए उपयॏĀ षĀ ऻॖ

आ� शȀ त

�ख़ोहतपोतकॊ

अ�婢�ॊोषत

अ�ॊक◌॑त

Correct Answer :­�ख़ोहतपोतकॊ 

12)

Question Stimulus :­

‘ऺकम挀�क’ म捀� उपऺग挀� ऻॖ­

ऺत्

ऺ

ऺद्

ऺक्

Correct Answer :­ऺ 

13)

Question Stimulus :­

‘ऺऻॊऺ’ म捀� ऺमॊऺ ऻॖ­

अ巀�यॎभॊश

बĀ�ॎोऻ

कम挀�धॊरय

ोĀगॏ



Correct Answer :­बĀ�ॎोऻ 

14)

Question Stimulus :­

चतॏरॊई’ म捀� �婢�य ऻॖ­

ई

रॊई

आई

तॏरॊई

Correct Answer :­आई 

15)

Question Stimulus :­

ोनȀ न म捀� ऺॕ ‘आĀोश慀�ॊऺ͛ कॊ ऺॊमॊोऺक ोशĀऻ चॏोनए ­

अपनॕ म捀� ोश慀�ॊऺ

अपनॕ ऊपर ोश慀�ॊऺ

अपनॕ पर ोश慀�ॊऺ

उपयॏ挀�Ā कख़ई नऻॎ ं

Correct Answer :­अपनॕ पर ोश慀�ॊऺ 

16)

Question Stimulus :­

अनॏȀ शॊर और अनॏनॊोऺक कॕ उ� चॊरण म捀� � यॊ अंतर ऻख़तॊ ऻॖ?

अनॏȀ शॊर  म捀� ऻशॊ ‘मॏँऻ’ ऺॕ ोनकलतॎ ऻॖ‚ जबोक अनॏनॊोऺक म捀� ऻशॊ ‘नॊक’ ऺॕ ोनकलतॎ ऻॖ।

अनॏȀ शॊर  म捀� ऻशॊ ‘नॊक’ ऺॕ ोनकलतॎ ऻॖ‚ जबोक अनॏनॊोऺक म捀� ऻशॊ  ‘नॊक और मॏँऻ’ दख़नंख़ ऺॕ ोनकलतॎ ऻॖ।

अनॏȀ शॊर  म捀� ऻशॊ ‘मॏँऻ’ ऺॕ ोनकलतॎ ऻॖ‚ जबोक अनॏनॊोऺक म捀� ऻशॊ  ‘नॊक और मॏँऻ’ दख़नंख़ ऺॕ ोनकलतॎ ऻॖ।

अनॏȀ शॊर  म捀� ऻशॊ ‘नॊक’ ऺॕ ोनकलतॎ ऻॖ‚ जबोक अनॏनॊोऺक म捀� ऻशॊ ‘मॏँऻ’ ऺॕ ोनकलतॎ ऻॖ।

Correct Answer :­अनॏȀ शॊर  म捀� ऻशॊ ‘नॊक’ ऺॕ ोनकलतॎ ऻॖ‚ जबोक अनॏनॊोऺक म捀� ऻशॊ  ‘नॊक और मॏँऻ’ दख़नंख़ ऺॕ ोनकलतॎ
ऻॖ। 

17)

Question Stimulus :­

ोनȀ न म捀� ऺॕ ‘अकॊलपॎोीत’ कॊ ऺॊमॊोऺक ोशĀऻ चॏोनए  ­

अकॊल Āॊरॊ पॎोीत



अकॊल ऺॕ पॎोीत

अकॊल म捀� पॎोीत

उपयॏ挀�Ā कख़ई नऻॎ ं

Correct Answer :­अकॊल ऺॕ पॎोीत 

18)

Question Stimulus :­

ोनĀ म捀� ऺॕ कग़न ोकंकर, तीॊग तथॊ ऺर कॊ एक अĀ पयॊ挀�यशॊचॎ ऻॖ ?

ऺरख़ज

मॕघशॊऻन

ऺरख़शर

पंकज

Correct Answer :­ऺरख़शर 

19)

Question Stimulus :­

‘पॕी ऺॕ प礀ॕ� ोगरतॕ ऻॖ’ रॕखॊंोकत षĀ म捀� कॊरक कॎ ोशभĀĀ पऻचॊोनए

करण कॊरक

ऺं�दॊन कॊरक

अपॊदॊन कॊरक

ऺंबंध कॊरक

Correct Answer :­अपॊदॊन कॊरक 

20)

Question Stimulus :­

उ� चॊरण कॕ आधॊर पर 磀� यंजनख़ ंकॕ ोकतनॕ भॕद ऻख़तॕ ऻĀ?

1

Ϯ

ϯ

ϰ

Correct Answer :­ϯ 

21)

Question Stimulus :­



‘बॕ ॏऺध’ कॊ पयॊ挀�यशॊचॎ ऻॖ­

जरॊ

क礀�Āर

ऺं灀�ॊऻॎन

巀�ॊध

Correct Answer :­ऺं灀�ॊऻॎन 

22)

Question Stimulus :­

ऺंȀ॑त कॕ ऐऺॕ षĀ, ोज�߀捀� ऻम Āख़ ंकॊ 婢�ख़ ं�यख़ग म捀� लॊतॕ ऻĀ, कऻलॊतॕ ऻĀ _______

त笀�म

तदभश

दॕषज

ोशदॕषज

Correct Answer :­त笀�म 

23)

Question Stimulus :­

ोनȀ न म捀� ऺॕ षॏ﹀� शॊ� य कग़न ऺॊ ऻॖ?

यऻ शऻॎ लड◌़कॊ ऻॖ ोजऺकख़ पॏोलऺ नॕ पकड◌़◌ॊ थॊ।

यऻ शऻॎ लड◌़कॊ ऻॖ इऺकख़ पॏोलऺ नॕ पकड◌़◌ॊ थॊ।

ोजऺकख़ पॏोलऺ नॕ पकड◌़◌ॊ थॊ यऻ शऻॎ लड◌़कॊ ऻॖ ।

इऺकख़ पॏोलऺ नॕ पकड◌़◌ॊ थॊ यऻ शऻॎ लड◌़कॊ ऻॖ ।

Correct Answer :­यऻ शऻॎ लड◌़कॊ ऻॖ ोजऺकख़ पॏोलऺ नॕ पकड◌़◌ॊ थॊ। 

24)

Question Stimulus :­

“भॊरत कॊ अतॎत ___________ थॊ’’ ĀरĀ Ȁथॊन कॎ पॐोत挀� कॕ ोलए “गग़रश “षĀ कॊ ऺऻॎ �प कग़न ऺॊ ऻख़गॊ।

गग़रशॊĀĀत

गग़रशपॐण挀�

गĀरमॊपॐण挀�

गĀरमॊमयॎ



Correct Answer :­गग़रशपॐण挀� 

25)

Question Stimulus :­

दख़ यॊ दख़ ऺॕ अोधक धॊतॏओ ंकॕ ऺंयख़ग ऺॕ कग़न ऺॎ ो搀�यॊ बनतॎ ऻॖ?

अकम挀�क ो搀�यॊ

ऺकम挀�क ो搀�यॊ

ऺंयॏĀ ो搀�यॊ

यग़ोगक ो搀�यॊ

Correct Answer :­यग़ोगक ो搀�यॊ 

Topic:­ General Mathematics
1)

Question Stimulus :­

The circumference of the base and the slant height of a conical cup are 8  cm and 8 cm respectively. The depth of
the cup is / एक षंकॏ नॏमॊ कप कॕ आधॊर कॎ पĀरोध एशं ोतरछॎ ऊँचॊई 搀�मष: 8  ऺॕमॎ एशं 8 ऺॕमॎ ऻॖ। कप कॎ
गऻरॊई ऻॖ:

4  cm / 4

3  cm / 3  ऺॕमॎ.

2  cm / 2  ऺॕमॎ.

4  cm / 4  ऺॕमॎ.

Correct Answer :­4  cm / 4  

2)

Question Stimulus :­

If  a =    and  b =     , then the value of a2b + ab2 =  / योद a =    एशं  b =     , तब a2b + ab2
कॊ मॊन =

6

2

4

9

Correct Answer :­4 



3)

Question Stimulus :­

The quotient obtained, when 2  is divided by   , is / जब 2  कख़   ऺॕ ोशभॊोजत ोकयॊ जॊतॊ ऻॖ, तब �ॊࢀ�
भॊगफल:

5

 

 

10

Correct Answer :­5 

4)

Question Stimulus :­

If the equation x2 ­ bx + 9 = 0 does not possess real roots, then / योद ऺमॎकरण x2 ­ bx + 9 = 0 आोशȀ ट
शॊ擀�ोशक मॐल नऻॎ ंऻॖ, तब :

­6 < b < 6

b  ­6

b  9

b < 9

Correct Answer :­­6 < b < 6 

5)

Question Stimulus :­

The value of 'm', for which the system of equations mx + 2y = m ­ 2 and 8x + my = m, has infinitely
many solutions, is / ऺमॎकरण mx + 2y = m ­ 2 और 8x + my = m कॕ ोलए ‘m’ कॊ मॊन बतॊएँ, ोजऺकॕ
अनंतत: �प ऺॕ कई ऻल ऻĀ

4

6

9

8

Correct Answer :­4 

6)

Question Stimulus :­

The range of  first 12 numbers divisible by 7 is / 7 ऺॕ ोशभॊĀ �थम 12 ऺंĀॊओ ंकॎ परॊऺ ऻॖ :



66

77

67

76

Correct Answer :­77 

7)

Question Stimulus :­

The mean, of first 6 three digit number divisible by 2, is / 2 ऺॕ ोशभॊोजत ऻख़नॕ शॊलॎ पऻलॎ 6 तॎन अंकख़ ं
शॊलॎ ऺंĀॊओ ंकॊ मॊĀ� ऻॖ:

106

103

105

108

Correct Answer :­105 

8)

Question Stimulus :­

If the product of zeros of  the polynomial f(x) = ax3 + 4x2 ­ 2x ­ 6 is 2, then the value of 'a' = / योद बĀपद f(x) =
ax3 + 4x2 ­ 2x ­ 6 कॕ षॐĀख़ ंकॊ गॏणनफल 2 ऻॖ, तब ‘a’ कॊ मॊन ऻॖ:

4

3

­2

­1

Correct Answer :­3 

9)

Question Stimulus :­

In triangle ABC, ∠A : ∠B : ∠C = 4 : 2 : 3. Sides AB and AC are produced to P and Q respectively. If the bisectors
of ∠PBC and ∠QCB intersect at ‘O’ , then ∠O = / ोĀकख़ण ABC म捀�, ∠A : ∠B : ∠C = 4 : 2 : 3 ऻॖ। भॏजॊएं AB और AC कख़
搀�मष: P और Q पर बुॊयॊ जॊतॎ ऻĀ। योद ∠PBC और ∠QCB कॕ ोĀभॊजक ‘O’ पर �ोतĀॕद करतॕ ऻĀ, तख़ ∠O =



700

800

500

600

Correct Answer :­500 

10)

Question Stimulus :­

A conical tent accommodates 10 persons. If each person must have 6 m2 of the space on the ground
and 18m3 of air to breathe , then the height of the tent is / एक षंĀॊकॊर तĀॐ म捀� 10 巀�ĀĀ रऻ ऺकतॕ ऻĀ।
योद �婢ॕ�क 巀�ĀĀ कख़ भॐोम पर 6 मॎटर2 Ȁथॊन एशं ऺॊँऺ लॕनॕ कॕ ोलए 18मॎटर3 ऻशॊ चॊोऻए, तख़ तĀॐ कॎ ऊंचॊई
ऻॖ:

12m / 12 मॎटर

15m / 15 मॎटर

10m / 10 मॎटर

9m / 9 मॎटर

Correct Answer :­9m / 9 मॎटर 

11)

Question Stimulus :­



1250

1050

1350

1150

Correct Answer :­1350 

12)

Question Stimulus :­

A bag contains white balls numbered from 1 to 3 and red balls numbered from 4 to 10. A ball is drawn at random.
The probability of getting an even numbered red ball is / एक थॖलॕ म捀� 1 ऺॕ 3 तक ऺंȀ यॊोकत ऺफॕद ग捀�द捀�  रखॎ Āई ऻĀ एशं 4
ऺॕ 10 तक ऺंȀ यॊोकत लॊल ग捀�दॕ रखॎ Āई ऻĀ। यॊ灀�ĀĀक तरॎकॕ ऺॕ एक ग捀�द कख़ ोनकॊलॊ जॊतॊ ऻॖ। ऺम ऺंĀॊ शॊलॎ लॊल ग捀�द कॕ
ोनकलनॕ कॎ �ॊोयकतॊ ऻॖ:

Correct Answer :­  

13)

Question Stimulus :­

In the adjoining figure ∠ADC and ∠BDC form a linear pair. If 2a – b = 30°, then ‘b’ =  / ऺंलĀ आक॑ोत म捀� ∠ADC
और ∠BDC रॕĀखक यॏĀ बनॊतॊ ऻॖ।

योद 2a – b = 30°, तख़ ‘b’ =

950



700

1100

1000

Correct Answer :­1100 

14)

Question Stimulus :­

Find the value of 'x' in the following :   =   / ोनĀोलĀखत म捀� ‘x’ कॊ मॊन 灀�ॊत कर捀�  :   = 

­4

6

­2

8

Correct Answer :­­4 

15)

Question Stimulus :­

A ticket is drawn from a bag containing 200 tickets. The tickets are numbered from 1 to 200.  What is the
probability of getting a ticket which is not a perfect cube? / एक ोटकट कख़ 200 ोटकटख़ ंकॕ ब擀ॕ� म捀� ऺॕ ोनकॊलॊ
जॊतॊ ऻॖ। ोटकटख़ ंकॎ ऺंĀॊ 1 ऺॕ 200 तक ऺंȀ यॊोकत ऻॖ। ऐऺॎ ोटकट कॕ ोनकॊलनॕ कॎ �ॊोयकतॊ �ॊ ऻॖ जख़ एक
पॐण挀� घन नऻॎ ंऻॖ?

Correct Answer :­  

16)

Question Stimulus :­



The radii of external and internal surfaces of a hollow spherical shell are 6cm and 3cm respectively. If it is melted
and recast into a solid cylinder of height 7cm, then the diameter of the cylinder is  / एक खख़खलॕ गख़लॊकॊर कख़ष
कॎ बॊ� एशं आंतĀरक प॑技�ख़ ंकॎ ोĀĀॊ 搀�मष: 6 ऺॕमॎ एशं 3 ऺॕमॎ ऻॖ। योद इ�߀捀� ोपघलॊकर 7 ऺॕमॎ ऊँचॊई शॊलॕ एक
ठख़ऺ बॕलन म捀� बनॊ ोलयॊ जॊतॊ ऻॖ, अत: इऺ बॕलन कॊ 磀� यॊऺ बतॊइए

8cm / 8ऺॕमॎ.

12cm / 12ऺॕमॎ

9cm / 9ऺॕमॎ

14cm / 14ऺॕमॎ

Correct Answer :­12cm / 12ऺॕमॎ 

17)

Question Stimulus :­

If  (x + y) = 2a  and  xy = 2b , then x2 + y2  in terms of ‘a’ and ‘b’ is  / योद (x + y) = 2a और xy = 2b ऻॖ, तख़ ‘a’ और
‘b’ कॕ �प म捀� x2 + y2 ऻख़गॊ

2a2 – b

a2 – 2b

4(a2 – b)

4(a2 – 2b)

Correct Answer :­4(a2 – b) 

18)

Question Stimulus :­

4 dozen mangoes are there in a box. If 6 mangoes are rotten, then the probability of choosing a good
mango is / एक बॗ� म捀� चॊर दज挀�न आम ऻĀ। योद 6 आम ऺीॕ Āए ऻĀ, तख़ एक अĀॊ आम चॏनॕ जॊनॕ कॎ �ॊोयकतॊ
ऻॖ:



Correct Answer :­  

19)

Question Stimulus :­

In an A.P if a = ­10,  a8 =11, then d = / एक ऺमॊंतर आरख़ऻण (A.P) म捀� योद a = ­10,  a8 =11, तख़ d =

5

4

3

6

Correct Answer :­3 

20)

Question Stimulus :­

1

­4

­2

2

Correct Answer :­2 

21)

Question Stimulus :­

cos

sin

cosec

sec

Correct Answer :­sin  

22)

Question Stimulus :­



A cylindrical bucket of height 24cm and base radius 12cm is filled with soil and then emptied it on the ground to
form a conical heap of height 18cm, then its radius is /  24 ऺॕमॎ ऊँचॊई एशं 12 ऺॕमॎ आधॊर ोĀĀॊ शॊलॎ एक बॕलनॊकॊर
बॊ姀�ॎ, ोम熀�ॎ ऺॕ भरॎ जॊतॎ ऻॖ एशं ोफर इऺॕ भॐोम पर ख़ॊलॎ ोकयॊ जॊतॊ ऻॖ, तॊोक 18 ऺॕमॎ ऊँचॊई शॊलॕ षंĀॊकॊर ुॕर बन जॊएं,
अत: इऺकॎ ोĀĀॊ ऻॖ :

36cm / 36 ऺॕमॎ.

24cm / 24 ऺॕमॎ.

30cm / 30 ऺॕमॎ.

22cm / 22 ऺॕमॎ.

Correct Answer :­24cm / 24 ऺॕमॎ. 

23)

Question Stimulus :­

The lengths of three sides of a triangle ABC are 8cm, 4cm, and 6cm. △PQR   △ABC and if one of the sides of
△PQR is 24cm, then the greatest perimeter possible for △PQR is / एक ोĀकख़ण ABC कॎ तॎनख़ ंभॏजॊओ ंकॎ लंबॊईयॊँ 8
ऺॕमॎ, 4 ऺॕमॎ एशं 6 ऺॕमॎ ऻĀ। △PQR   △ABC एशं योद △PQR कॎ एक भॏजॊ 24 ऺॕमॎ ऻॖ, तख़ △PQR कॊ ऺंभॊोशत ऺबऺॕ बीॊ
पĀरमॊप ऻॖ:

72 cm / 72 ऺॕमॎ.

108 cm / 108 ऺॕमॎ.

120 cm / 120 ऺॕमॎ.

68 cm / 68 ऺॕमॎ.

Correct Answer :­108 cm / 108 ऺॕमॎ. 

24)

Question Stimulus :­

If 2 is added to each of the two given numbers, then their ratio will be 1 : 2. If 3 is subtracted from each of them,
then the ratio will be 2 : 5. Then one of the two given numbers is  / योद दॎ गयॎ दख़ ऺंĀॊओ ंम捀� 2 कख़ जख़ीॊ जॊतॊ ऻॖ, तख़
उनकॊ अनॏपॊत 1:2 ऻख़गॊ। योद दख़नख़ ंऺंĀॊओ ंम捀� ऺॕ 3 कख़ घटॊयॊ ोदयॊ जॊयॕ, तख़ अनॏपॊत 2:5 ऻख़ जॊयॕगॊ। अत: दॎ गयॎ दख़
ऺंĀॊओ ंम捀� ऺॕ एक ऺंĀॊ ऻॖ:

28

11

31

17

Correct Answer :­28 

25)

Question Stimulus :­



If the areas of the three adjacent faces of a rectangular block are in the ratio 1 : 2 : 4 and its volume is 1000cm3.
The measure of the longest side is /  योद एक आयतॊकॊर खंड कॕ तॎन पॊ� श挀�Ȁथ फलकख़ ंकॊ ĀॕĀफल 1: 2: 4 कॕ अनॏपॊत म捀�
ऻĀ एशं इऺकॊ आयतन 1000 ऺॕमॎ3 ऻॖ। तख़ ऺबऺॕ लंबॎ भॏजॊ कॊ मॊप ऻॖ:

10 cm / 10 ऺॕमॎ.

24 cm / 24 ऺॕमॎ.

20 cm / 20 ऺॕमॎ.

12 cm / 12 ऺॕमॎ.

Correct Answer :­20 cm / 20 ऺॕमॎ. 

Topic:­ General English
1)

Question Stimulus :­

Choose the option that best transforms the sentence into its Direct / Indirect form:

 

The teacher will say, “Open your books.”

The teacher will say us to open our books.

The teacher said us to open our books.

The teacher asked us to open our books

The teacher will ask us to open our books.

Correct Answer :­The teacher will ask us to open our books. 

2)

Question Stimulus :­

Read the sentence carefully and choose the option that has an error in it:

 

It is the dream of every mountaineers to climb the world's highest peak.

It is the dream

of every mountaineers

to climb

the world's highest peak.

Correct Answer :­of every mountaineers 

3)

Question Stimulus :­

Choose the option that best transforms the given sentence as directed:



 

Their glory can never fade away. (The interrogative form of the sentence)

Never can their glory fail?

Their glory can fail?

Can their glory ever fade away?

Cannot their glory never failed?

Correct Answer :­Can their glory ever fade away? 

4)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

 

He will not be taken back ___________ he apologizes to the other players.

although

unless

in order that

because

Correct Answer :­unless 

5)

Question Stimulus :­

Choose the option that best transforms the sentence into its other voice:

 

The filter must be changed every six months.

Change the filter every six months.

You must be changing the filter every month.

We must change the filter.

Changing of the filter must be done every six months.

Correct Answer :­Change the filter every six months. 

6)

Question Stimulus :­

Complete the sentence choosing the right form of Prefix:

 



It is time to ______new the book that I borrowed from the library.

pre­

post­

re­

a­

Correct Answer :­re­ 

7)

Question Stimulus :­

Choose the option that best punctuates the given sentence:

 

The sales manager Mr Jayaram is in a meeting

The sales’ manager Mr. Jayaram is in a meeting.

The “sales manager” Mr. Jayaram, is in a meeting.

The sales manager, Mr. Jayaram, is in a meeting

The sale’s manager, Mr. Jayaram, is in a meeting

Correct Answer :­The sales manager, Mr. Jayaram, is in a meeting 

8)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

 

He was standing ________ the door and listening attentively.

against

between

back of

besides

Correct Answer :­against 

9)

Question Stimulus :­

Choose the option that best transforms the sentence into its Direct / Indirect form:

 

Would you like a drink?



He asked me to drink.

He asked me if I would like a drink.

He requested me for drink.

He told me to drink.

Correct Answer :­He asked me if I would like a drink. 

10)

Question Stimulus :­

Choose the option that best transforms the given sentence as directed:

 

He is a proud man. (The negative form of the sentence)

He is not a proud man.

Never is he a humble man.

He is not being a proud man.

He is not a humble man.

Correct Answer :­He is not a humble man. 

11)

Question Stimulus :­

Choose the option that is closest in meaning to the highlighted word in the given sentence:

 

That ornament has enhanced her beauty.

exhibited

increased

decreased

impressed

Correct Answer :­increased 

12)

Question Stimulus :­

Choose the option that best fills in to complete the given sentence::

 

Shruti usually _________ to Goa every other month.

went



is going

goes

has gone

Correct Answer :­goes 

13)

Question Stimulus :­

Read the sentence carefully and choose the option that has an error in it:

 

It is very obvious that his parents disapprove him intention to fly at such an early age.

It is very obvious that

his parents disapprove

him intention to fly

at such an early age

Correct Answer :­him intention to fly 

14)

Question Stimulus :­

Choose the option that best punctuates the given sentence:

 

Unfortunately the train arrived late and I had to leave for office

Unfortunately the train arrived late, and I, had to leave for office

Unfortunately, the train arrived late and I had to leave for office.

Unfortunately the train arrived late, and I had to leave for office.

Unfortunately ­­ the train arrived late ­­ and I had to leave for office.

Correct Answer :­Unfortunately, the train arrived late and I had to leave for office. 

15)

Question Stimulus :­

Choose the option that best transforms the sentence into its other voice:

 

The software was not tested.

We did not test the software.

We had not test the software.



Nobody tested the software.

We had not tested the software

Correct Answer :­We did not test the software. 

16)

Question Stimulus :­

Choose the option that best fills in to complete the given sentence::

 

Akshay _________ up at 6 o’clock every morning.

gets

will getting

will got

has getting

Correct Answer :­gets 

17)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

 

You were bad; _________ you are being punished.

however

because

therefore

but

Correct Answer :­therefore 

18)

Question Stimulus :­

Choose the correct form of verb that is in agreement with the subject:

 

Politics __________ a risky profession.

is

are

is being



are being

Correct Answer :­is 

19)

Question Stimulus :­

Choose the most suitable determiner for the given sentence:

 

Only _____________ crops can be grown on arid land.

a few

few

a lot of

many

Correct Answer :­a few 

20)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

 

Sweep the bread crumbs ________ the table.

under

off

from

across

Correct Answer :­off 

Topic:­ RC_General English
1)

Question Stimulus :­

Read the following passage and answer the question given below:

Your home reflects your tastes, your passions, your likes, and your hobbies. Your home can be bright
and airy, or cozy and warm, or correct and coordinated. Every home has walls, ceilings, floors,
windows and, if worked upon, these surfaces enhance the ambience of your dwelling.

Today, we are living in an age of revived interest in home decorations. As a consequence of this huge
demand, the whole industry has responded and blossomed. There is an inexhaustible supply of books
and magazines available on this subject. The literature gives you an idea about adding permutations
and combinations, thus making it easier for amateurs to attempt home improvement projects on their
own without the help of professionals.



 

Which factor in a house depicts the owner’s personality?

Size

Cost

Materials

Brightness, warmth and ventilation

Correct Answer :­Brightness, warmth and ventilation 

2)

Question Stimulus :­

Read the following passage and answer the question given below:

Your home reflects your tastes, your passions, your likes, and your hobbies. Your home can be bright
and airy, or cozy and warm, or correct and coordinated. Every home has walls, ceilings, floors,
windows and, if worked upon, these surfaces enhance the ambience of your dwelling.

Today, we are living in an age of revived interest in home decorations. As a consequence of this huge
demand, the whole industry has responded and blossomed. There is an inexhaustible supply of books
and magazines available on this subject. The literature gives you an idea about adding permutations
and combinations, thus making it easier for amateurs to attempt home improvement projects on their
own without the help of professionals.

 

For house decorations why should one take one’s own help? Because it is ______.

More satisfying

Cheaper

A way to try out various combinations

More efficient

Correct Answer :­A way to try out various combinations 

3)

Question Stimulus :­

Read the following passage and answer the question given below:

Your home reflects your tastes, your passions, your likes, and your hobbies. Your home can be bright
and airy, or cozy and warm, or correct and coordinated. Every home has walls, ceilings, floors,
windows and, if worked upon, these surfaces enhance the ambience of your dwelling.

Today, we are living in an age of revived interest in home decorations. As a consequence of this huge
demand, the whole industry has responded and blossomed. There is an inexhaustible supply of books
and magazines available on this subject. The literature gives you an idea about adding permutations
and combinations, thus making it easier for amateurs to attempt home improvement projects on their
own without the help of professionals.



 

The meaning of ‘blossomed’ here means:

Flowered

Looked beautiful

Young

Proliferated

Correct Answer :­Proliferated 

4)

Question Stimulus :­

Read the following passage and answer the question given below:

Your home reflects your tastes, your passions, your likes, and your hobbies. Your home can be bright
and airy, or cozy and warm, or correct and coordinated. Every home has walls, ceilings, floors,
windows and, if worked upon, these surfaces enhance the ambience of your dwelling.

Today, we are living in an age of revived interest in home decorations. As a consequence of this huge
demand, the whole industry has responded and blossomed. There is an inexhaustible supply of books
and magazines available on this subject. The literature gives you an idea about adding permutations
and combinations, thus making it easier for amateurs to attempt home improvement projects on their
own without the help of professionals.

 

Name a source for ideas on home decorations.

Furniture shop

Hardware shop

Interior decorator

Books

Correct Answer :­Books 

5)

Question Stimulus :­

Read the following passage and answer the question given below:

Your home reflects your tastes, your passions, your likes, and your hobbies. Your home can be bright
and airy, or cozy and warm, or correct and coordinated. Every home has walls, ceilings, floors,
windows and, if worked upon, these surfaces enhance the ambience of your dwelling.

Today, we are living in an age of revived interest in home decorations. As a consequence of this huge
demand, the whole industry has responded and blossomed. There is an inexhaustible supply of books
and magazines available on this subject. The literature gives you an idea about adding permutations
and combinations, thus making it easier for amateurs to attempt home improvement projects on their
own without the help of professionals.



 

What according to the author is common to all homes?

Appearance

Structural aspects

Environment

Garden

Correct Answer :­Structural aspects 

Topic:­ General Knowledge
1)

Question Stimulus :­

Which one of these is not a tribe of Madhya Pradesh? / ोनĀोलĀखत म捀� ऺॕ कग़न ऺॎ  मĀ��दॕष कॎ एक जनजॊोत नऻॎ ंऻॖ।

Gond / गख़डं

Bhil / भॎल

Kom / कख़म

Baiga / बॖगॊ

Correct Answer :­Kom / कख़म 

2)

Question Stimulus :­

Which of the following is not a Union Territory? / ोनĀोलĀखत म捀� ऺॕ कग़न एक क捀� 撀� षॊोऺत �दॕष नऻॎ ंऻॖ?

Andaman & Nicobar / अंडमॊन एशं ोनकख़बॊर

Puducherry / पॏडॏ चॕरॎ

Delhi / ोदȀॎ

Telangana / तॕलंगॊनॊ

Correct Answer :­Telangana / तॕलंगॊनॊ 

3)

Question Stimulus :­

_________ Countries had competed in the third international Kabaddi tournament held in India during
October 2016. / अĀॐ बर 2016 कॕ दग़रॊन, भॊरत म捀� आयख़ोजत ऻख़नॕ शॊलॕ तॎऺरॕ अĀरॊ挀�Ȁ挀� ॎय कब瓀�ॎ टॐ नॊ挀�म捀�ट म捀� _______
दॕषख़ ंनॕ भॊग ोलयॊ।

8

12



14

10

Correct Answer :­12 

4)

Question Stimulus :­

________ is known as “Scotland of the East” / _________ कख़ “पॐश挀� कॊ ȀॗटलĀड” कॕ नॊम ऺॕ जॊनॊ जॊतॊ ऻॖ।

Shillong / ोषलॊंग

Jairampur / जयरॊमपॏर

Ruksin / रĀ�न

Gandhigram / गॊँधॎĀॊम

Correct Answer :­Shillong / ोषलॊंग 

5)

Question Stimulus :­

The Radcliffe line is a boundary between________ and ______ . / रॕडĀ榀�फ लॊइन _________एशं _______कॕ बॎच
एक ऺॎमॊ ऻॖ।

India and China / भॊरत एशं चॎन

India and Bangladesh / भॊरत एशं बॊंĀॊदॕष

India and Sri Lanka / भॊरत एशं Āॎलंकॊ

India and Pakistan / भॊरत एशं पॊोक擀�ॊन

Correct Answer :­India and Pakistan / भॊरत एशं पॊोक擀�ॊन 

6)

Question Stimulus :­

Who among the following has been appointed as new Chairman of PwC India? / ोनȀ न म捀� ऺॕ कग़न PwC इंोडयॊ कॕ
नशोनयॏ� त अ� यĀ ऻĀ?

Deepak Kapoor / दॎपक कपॐर

Shyamal Mukherjee / � यॊमल मॏखजĀ

Ajay Kangoo / अजय कॊंगख़

None of the above / उपरख़� त म捀� ऺॕ कख़ई नऻॎ ं

Correct Answer :­Shyamal Mukherjee / � यॊमल मॏखजĀ 

7)



Question Stimulus :­

According to 2011 census, Madhya Pradesh had a literacy rate of ______. / 2011 कॎ जनगणनॊ कॕ अनॏऺॊर,
मĀ��दॕष कॎ ऺॊĀरतॊ दर ______ थॎ।

93.5%

70.6%

45.3%

53.9%

Correct Answer :­70.6% 

8)

Question Stimulus :­

First Indian female wrestler to win a medal at Olympics is ________. / ओलंोपक म捀� पदक जॎतनॕ शॊलॎ �थम
भॊरतॎय मोऻलॊ पऻलशॊन ________ ऻॖ।

Sakshi Malik / ऺॊĀॎ मोलक

Babita Kumari / बोबतॊ कॏ मॊरॎ

Vinesh Phogat / ोशनॕष फख़गट

Geetha Phogat / गॎतॊ फख़गट

Correct Answer :­Sakshi Malik / ऺॊĀॎ मोलक 

9)

Question Stimulus :­

Which one of these is not a tributary of Yamuna? / इनम捀� ऺॕ कग़न यमॏनॊ कॎ ऺऻॊयक नदॎ नऻॎ ंऻॖ?

Hiran / ोऻरन

Sindh / ोऺंध

Tons / टख़ ंऺ

Ken / कॕन

Correct Answer :­Hiran / ोऻरन 

10)

Question Stimulus :­

Which of the following Indian state has a separate constitution for itself? / ोनĀोलĀखत भॊरतॎय रॊĀख़ ंम捀� ऺॕ ोकऺ
रॊȀ य कॊ अपनॊ एक अलग ऺंोशधॊन ऻॖ?

Arunachal Pradesh / अ�णॊचल �दॕष

Sikkim / ोऺĀĀम



Himachal Pradesh / ोऻमॊचल �दॕष

Jammu and Kashmir / जĀॐ एशं क�ॎर

Correct Answer :­Jammu and Kashmir / जĀॐ एशं क�ॎर 

11)

Question Stimulus :­

Tansen Samaroh is held in the month of ______ in Madhya Pradesh. / मĀ� �दॕष म捀� तॊनऺॕन ऺमॊरख़ऻ, ______  मऻॎनॕ
म捀� आयख़ोजत ोकयॊ जॊतॊ ऻॖ।

March / मॊच挀�

December / ोदऺĀर

July / जॏलॊई

September / ोऺतĀर

Correct Answer :­December / ोदऺĀर 

12)

Question Stimulus :­

Gatha falls is in _________ district of Madhya Pradesh. / गॊथॊ जल�पॊत, मĀ� �दॕष कॕ _________ ोजलॕ म捀� ĀȀथत
ऻॖ।

Panna / प虀�ॊ

Rewa / रॎशॊ

Dhar / धॊर

Bhind / ोभंड

Correct Answer :­Panna / प虀�ॊ 

13)

Question Stimulus :­

Which famous playback singer was born in Khandwa, Madhya Pradesh? / मĀ� �दॕष खंडशॊ म捀� कग़न ऺॕ �ोऺ﹀� पॊ慀�挀�
गॊयक पॖदॊ Āए थॕ?

Kishore Kumar / ोकषख़र कॏ मॊर

Mohammed Rafi / मॏऻĀद रूॎ

Mahendra Kapoor / मऻ捀�撀� कपॐर

Kundan Lal Saigal / कॏं दन लॊल ऺऻगल

Correct Answer :­Kishore Kumar / ोकषख़र कॏ मॊर 

14)



Question Stimulus :­

_________ is the largest city by population in India as per 2011 census. / 2011 कॎ जनगणनॊ कॕ अनॏऺॊर,
भॊरत कॊ ऺशॊ挀�ोधक जनऺंĀॊ शॊलॊ षऻर ________ ऻॖ।

Mumbai / मॏंबई

Delhi / ोदȀॎ

Bengaluru / ब捀�गलॏ揀�

Chennai / चॕ虀�ई

Correct Answer :­Mumbai / मॏंबई 

15)

Question Stimulus :­

_________ is the oldest stone structure in India. / भॊरत म捀� ऺबऺॕ पॏरॊनॎ पĀर कॎ ऺंरचनॊ _________ ऻॖ।

Dholavira / धख़लॊशॎरॊ

Sanchi Stupa / ऺॊंचॎ 擀�ॐप

Dhamek Stupa / धमक 擀�ॐप

Taj Mahal / तॊज मऻल

Correct Answer :­Sanchi Stupa / ऺॊंचॎ 擀�ॐप 

16)

Question Stimulus :­

The Hirakud Project in Odisha is constructed on which river? / ओोीऺॊ म捀� ऻॎरॊकॏं ड पĀरयख़जनॊ, ोकऺ नदॎ पर
ोनोम挀�त ऻॖ?

Kaveri river / कॊशॕरॎ नदॎ

Brahmaputra / �楀�पॏĀ

Ganga river / गंगॊ नदॎ

Mahanadi / मऻॊनदॎ

Correct Answer :­Mahanadi / मऻॊनदॎ 

17)

Question Stimulus :­

__________ is the state bird of Madhya Pradesh. / __________ मĀ��दॕष कॊ रॊजकॎय पĀॎ ऻॖ।

Asian Koel / एोषयॊई कख़यल

Indian Paradise flycatcher / दॐ धरॊज (भॊरतॎय पॖरॊडॊइज Āॊईकॖचर)



Banded Bay Cuckoo / बĀडॕड बॕ कख़यल

Barn Swallow / बॊन挀� Ȁॊलख़

Correct Answer :­Indian Paradise flycatcher / दॐ धरॊज (भॊरतॎय पॖरॊडॊइज Āॊईकॖचर) 

18)

Question Stimulus :­

Chachai falls is in _________ district of Madhya Pradesh. / चचॊई जल�पॊत, मĀ��दॕष कॕ ________ ोजलॕ म捀� ऻॖ।

Dhar / धॊर

Rewa / रॕशॊ

Bhind / ोभंड

Katni / कटनॎ

Correct Answer :­Rewa / रॕशॊ 

19)

Question Stimulus :­

___________ cricket stadium in Indore was earlier known as Maharani Usharaje Trust cricket ground. / इंदग़र
म捀� _________ ो搀�कॕट Ȁॕोडयम कख़ पॐश挀� म捀� मऻॊरॊनॎ उहॊरॊजॕ ट挀�Ȁ ो搀�कॕट मॖदॊन कॕ नॊम ऺॕ जॊनॊ जॊतॊ थॊ।

Roop Singh / �प ोऺंऻ

Holkar / ऻख़लकर

Nehru / नॕऻ揀�

Colliery / कख़ोलयरॎ

Correct Answer :­Holkar / ऻख़लकर 

20)

Question Stimulus :­

_________ is the biggest tributary of river Narmada. / नम挀�दॊ नदॎ कॎ ऺबऺॕ बीॎ ऺऻॊयक नदॎ _________ ऻॖ।

Tawa / तॊशॊ

Sher / षॕर

Shakkar / षĀर

Dudhi / दॏधॎ

Correct Answer :­Tawa / तॊशॊ 

21)

Question Stimulus :­



__________ is the only state in India with a majority Muslim population. / भॊरत कॊ बĀऺंĀक मॏĀȀम आबॊदॎ
शॊलॊ एकमॊĀ रॊĀ _________ ऻॖ।

Punjab / पंजॊब

Haryana / ऻĀरयॊणॊ

Himachal Pradesh / ोऻमॊचल रॊĀ

Jammu & Kashmir / जĀॐ एशं क�ॎर

Correct Answer :­Jammu & Kashmir / जĀॐ एशं क�ॎर 

22)

Question Stimulus :­

Who selects the Authorized Dealers for foreign transactions? / ोशदॕषॎ लॕनदॕन ऻॕतॏ अोधक॑त डॎल 挀ऺ� कॊ चयन कग़न
करतॊ ऻॖ?

Co operative Bank / कख़­ऑपरॕोटश बĀक

Reserve Bank of India / भॊरतॎय Āरिश挀� बĀक

Foreign Exchange Department / ोशदॕषॎ ोशोनमय ोशभॊग

None of the above / उपरख़� त म捀� ऺॕ कख़ई नऻॎ ं

Correct Answer :­Reserve Bank of India / भॊरतॎय Āरिश挀� बĀक 

23)

Question Stimulus :­

How many medals did India win in 2016 Summer Paralympics held in Rio de Janeiro? / Āरयख़ ोड जॕनॕĀरयख़ म捀�
आयख़ोजत ऻख़नॕ शॊलॕ ĀॎȀ म पॖरॊओलĀĀक, 2016 म捀� भॊरत नॕ ोकतनॕ पदक जॎतॕ थॕ?

3

4

5

6

Correct Answer :­4 

24)

Question Stimulus :­

Rajasthan canal, one of the largest canals of India was renamed the ________ canal. / रॊजȀथॊन नऻर, भॊरत कॎ
ऺबऺॕ बीॎ नऻरख़ ंम捀� ऺॕ एक ऻॖ, ोजऺॕ ________ नऻर नॊम ोदयॊ गयॊ।

Indira Gandhi / इंोदरॊ गॊँधॎ

Rajiv Gandhi / रॊजॎश गॊँधॎ



Jawaharlal Nehru / जशॊऻरलॊल नॕऻ揀�

Mahatma Gandhi / मऻॊĀॊ गॊँधॎ

Correct Answer :­Indira Gandhi / इंोदरॊ गॊँधॎ 

25)

Question Stimulus :­

Highest mountain in Uttarakhand is _____________. / उ礀�रॊखंड कॊ ऺबऺॕ ऊंचॊ पश挀�त, _____________ ऻॖ।

Nanda Devi / नंदॊ दॕशॎ

Trisul / ोĀ ॐऺल

Shivling / ोषशोलंग

Nanda Kot / नंदॊ कख़ट

Correct Answer :­Nanda Devi / नंदॊ दॕशॎ 

Topic:­ General Computer Knowledge
1)

Question Stimulus :­

Operating system, editors, and debuggers comes under? / ऑपरॕोटंग ोऺȀ टȀ ऺ , एडॎट 挀ऺ� तथॊ ोडबग 挀ऺ� ोकऺकॕ
अंतग挀�त आतॕ ऻĀ?

Application Software / ए璀� लॎकॕषन ऺॗĀशॕयर

Utilities / यॐोटोलटॎि

System Software / ोऺȀ टम ऺॗĀशॕय 挀ऺ�

None of the above / उपरख़� त म捀� ऺॕ कख़ई नऻॎ ं

Correct Answer :­System Software / ोऺȀ टम ऺॗĀशॕय 挀ऺ� 

2)

Question Stimulus :­

Which feature should be used to monitor changes to a MS Word document? / MS Word ड� यॐम捀�ट म捀� बदलॊशख़ ंकॎ
ोनगरॊनॎ कॕ ोलए ोकऺ फॎचर कॊ उपयख़ग ोकयॊ जॊनॊ चॊोऻए?

Track Changes / ट挀� ॖक चॕ� जॕि

Compare Versions / कȀ पॕयर शि挀�� ऺ

Editions / एडॎषंऺ

All of the above / उपरख़� त म捀� ऺॕ कख़ई नऻॎ ं

Correct Answer :­Track Changes / ट挀� ॖक चॕ� जॕि 

3)



Question Stimulus :­

HǇpeƌliŶks ĐaŶ ďe ___________. / ऻॊइपरोलंक ___________ ऻख़ ऺकतॊ ऻॖ।

Teǆt / टॕ� Ȁ ट

DƌaǁiŶg oďjeĐts / ड挀� ॗइंग ऑȀ जॕ� ट्ऺ

PiĐtuƌes / ोप� च 挀ऺ�

All of the above / उपरख़� त ऺभॎ

Correct Answer :­All of the above / उपरख़� त ऺभॎ 

4)

Question Stimulus :­

Missing slot covers on a computer can cause? / कȀ 璀� यॐट 挀ऺ� पर Ȁ लॗट कश 挀ऺ� न ऻख़नॕ ऺॕ ोनȀ न ऻख़ ऺकतॊ ऻॖ ­

oǀeƌ heat / ओशर ऻॎट

poǁeƌ suƌges / पॗशर ऺज挀�

EMI / EMI

IŶĐoŵplete path foƌ ESD / ESD कॕ ोलए अपॐण挀� पॊथ

Correct Answer :­oǀeƌ heat / ओशर ऻॎट 

5)

Question Stimulus :­

WheŶ seŶdeƌ aŶd ƌeĐeiǀeƌ of aŶ e‐ŵail aƌe oŶ saŵe sǇsteŵ, ǁe Ŷeed oŶlǇ tǁo _________. / जब ोकऺॎ ई­मॕल कॕ
捀ऺ�डर तथॊ Āरऺॎशर एक ऻॎ ोऺȀ टम पर ऻĀ, तब ऻम捀� कॕशल दख़ __________ कॎ आश� यकतॊ ऻख़तॎ ऻॖ।

IP / IP

Domain / डख़मॕन

Servers / ऺश挀�रऺ

Users / यॐजरऺ

Correct Answer :­Users / यॐजरऺ 

6)

Question Stimulus :­

Which of the following memory chips is programmed during the manufacturing process? / ोनȀ न म捀� ऺॕ ोकऺ
मॕमरॎ Ā榀�प कॎ �ख़Āॊोमंग उ牀� पॊदन �ो搀�यॊ कॕ दग़रॊन कॎ जॊतॎ ऻॖ?

ROM

PROM



EPROM

EEPROM

Correct Answer :­ROM 

7)

Question Stimulus :­

What ĐoŵŵaŶd do Ǉou use to Đƌeate LiŶuǆ file sǇsteŵs? / आप ोलन� ऺ  फॊइल ोऺȀ टम ो搀�एट करनॕ कॕ ोलए ोकऺ
कमॊंड कॊ उपयख़ग करतॕ ऻĀ?

Fdisk

Mkfs

Fsck

mount

Correct Answer :­Mkfs 

8)

Question Stimulus :­

What does the DOCTYPE deĐlaƌa埱�oŶ defiŶes iŶ HTML? / HTML म捀� DOCTYPE ोड� लॕरॕषन � यॊ पĀरभॊोहत करतॊ ऻॖ?

it defiŶes the doĐuŵeŶt PƌopeƌtǇ / यऻ ड� यॐम捀�ट �ॗपटĀ पĀरभॊोहत करतॊ ऻॖ

it defiŶes the doĐuŵeŶt TǇpe / यऻ ड� यॐम捀�ट टॊइप पĀरभॊोहत करतॊ ऻॖ

it defiŶes the doĐuŵeŶt Size / यऻ ड� यॐम捀�ट ऺॊइि पĀरभॊोहत करतॊ ऻॖ

it defiŶes the doĐuŵeŶt StǇle / यऻ ड� यॐम捀�ट Ȁ टॊइल पĀरभॊोहत करतॊ ऻॖ

Correct Answer :­it defiŶes the doĐuŵeŶt TǇpe / यऻ ड� यॐम捀�ट टॊइप पĀरभॊोहत करतॊ ऻॖ 

9)

Question Stimulus :­

IŶ MS EǆĐel, to aĐ埱�ǀate the pƌeǀious Đell iŶ a pƌe‐seleĐted ƌaŶge, pƌess / MS Excel म捀�, ो�­ऺॕलॕ� टॕड र捀�ज म捀�, �ॎोशयऺ
ऺॕल एĀĀशॕट करनॕ कॕ ोलए __________दबॊएं।

Alt keǇ

Taď keǇ

EŶteƌ keǇ

NoŶe of the aďoǀe / उपरख़� त म捀� ऺॕ कख़ई नऻॎ ं

Correct Answer :­NoŶe of the aďoǀe / उपरख़� त म捀� ऺॕ कख़ई नऻॎ ं

10)

Question Stimulus :­



Which of the following is not a variant of a Unix Operating system? / ोनȀ न म捀� ऺॕ � यॊ यॐोन� ऺ  ऑपरॕोटंग ोऺȀ टम
कॊ शॖĀरएंट नऻॎ ंऻॖ?

MS DOS / MS DOS

Mac OS / Mac OS

Linux / ोलन� ऺ

Berkeley Software Distribution (BSD) / बक捀� लॕ ऺॗĀशॕयर ोडȀ挀� ॎȀ यॐषन

Correct Answer :­MS DOS / MS DOS 

11)

Question Stimulus :­

IŶ MS Woƌd, ͞Ctƌl + PageUp͟ is used to / MS Woƌd म捀� ͞Ctƌl + PageUp͟ कॊ उपयख़ग ोकयॊ जॊतॊ ऻॖ ­

Moǀes the Đuƌsoƌ oŶe Page Up / क 挀ऺ�र कख़ एक पॕज ऊपर पĀंचॊनॕ कॕ ोलए

Moǀes the Đuƌsoƌ oŶe Paƌagƌaph Up / क 挀ऺ�र कख़ एक पॖरॊĀॊफ ऊपर पĀंचॊनॕ कॕ ोलए

Moǀes the Đuƌsoƌ oŶe SĐƌeeŶ Up / क 挀ऺ�र कख़ Ȁ 搀�ॎन पॕज कॕ ऊपर पĀंचॊनॕ कॕ ोलए

Moǀes the Đuƌsoƌ oŶe LiŶe Up / क 挀ऺ�र कख़ एक लॊइन ऊपर पĀंचॊनॕ कॕ ोलए

Correct Answer :­Moǀes the Đuƌsoƌ oŶe Page Up / क 挀ऺ�र कख़ एक पॕज ऊपर पĀंचॊनॕ कॕ ोलए 

12)

Question Stimulus :­

In Linux, which of the following command can you execute to count the number of lines in a file? /
ोलन� ऺ  म捀�, आप ोकऺॎ फॊइल म捀� लॊइ� ऺ  कॎ ऺंĀॊ कॎ गणनॊ कॊयॊ挀�ĀĀत करनॕ कॕ ोलए ोनȀ न म捀� ऺॕ ोकऺ कमॊंड कॊ उपयख़ग
कर ऺकतॕ ऻĀ?

Lc

Wc – l

Cl

count

Correct Answer :­Wc – l 

13)

Question Stimulus :­

WhiĐh of the folloǁiŶg is the ŵost ĐoŵŵoŶlǇ used HTTP ŵethods? / ोनȀ न म捀� ऺॕ कग़न ऺॎ HTTP मॕथड्ऺ कॊ ऺशॊ挀�ोधक
ऺॊमॊ� य �प ऺॕ उपयख़ग ोकयॊ जॊतॊ ऻॖ?

PRE aŶd POST / PRE और POST

GET aŶd SET / GET और SET

ASK aŶd REPLY / ASK और REPLY



GET aŶd POST / GET और POST

Correct Answer :­GET aŶd POST / GET और POST 

14)

Question Stimulus :­

A receiving host has failed to receive all of the segments that it should acknowledge. What can the host
do to improve the reliability of this communication session? / एक Āरऺॎोशंग ऻख़Ȁ ट ऺभॎ ऺॕ煀� म捀�ट्ऺ कख़ �ॊ璀� त करनॕ
म捀� अऺफल रऻॊ ऻॖ ोजनकॕ ोलए इऺॕ एकनॗलॕज करनॊ ऻॖ। ऻख़Ȁ ट इऺ कȀ यॏोनकॕषन ऺॕषन कॎ ोश� शऺनॎयतॊ म捀�  ॏऺधॊर कॕ ोलए
� यॊ कर ऺकतॊ ऻॖ?

SeŶd a diffeƌeŶt souƌĐe poƌt Ŷuŵďeƌ. / ोशोभ� न ऺख़ 挀ऺ� पख़ट挀� नंबर भॕजनॊ

Restaƌt the ǀiƌtual ĐiƌĐuit. / शचॏ挀�अल ऺोक挀� ट ĀरȀ टॊट挀� करनॊ

DeĐƌease the seƋueŶĐe Ŷuŵďeƌ. / 搀�म ऺंȀ यॊ म捀� कमॎ करनॊ

DeĐƌease the ǁiŶdoǁ size. / ोशंडख़ ऺॊइि म捀� कमॎ करनॊ

Correct Answer :­DeĐƌease the ǁiŶdoǁ size. / ोशंडख़ ऺॊइि म捀� कमॎ करनॊ 

15)

Question Stimulus :­

WhiĐh ĐoŵŵaŶd displaǇs oŶlǇ file aŶd diƌeĐtoƌǇ Ŷaŵes ǁithout size, date aŶd 埱�ŵe iŶfoƌŵa埱�oŶ? / कग़न ऺॊ कमॊंड,
फॊइ础� ऺ  तथॊ डॊइरॕ� टरॎ कॕ नॊम कख़ ोबनॊ आकॊर, ोतोथ तथॊ ऺमय ऺंबंधॎ  ॐऺचनॊ कॕ ोडȀ 璀� लॕ करतॊ ऻॖ?

Diƌ/ǁ

Dir/a

Dir/b

Diƌ/s

Correct Answer :­Dir/b 

16)

Question Stimulus :­

IŶ eǆĐel, ǁhiĐh ďu城�oŶ do Ǉou ĐliĐk to add up a seƌies of Ŷuŵďeƌs? / EǆĐel म捀�, आप ऺंȀ यॊओ ंकॎ ोऺरॎज कॊ यख़ग
करनॕ कॕ ोलए ोकऺ बटन पर Ā榀�क करतॕ ऻĀ?

Auto suŵ ďu城�oŶ / ऑटख़ ऺम बटन

Foƌŵula ďu城�oŶ / फॗमॐ挀�लॊ बटन

QuiĐk total ďu城�oŶ / ĀĀक टख़टल बटन

Total ďu城�oŶ / टख़टल बटन

Correct Answer :­Auto suŵ ďu城�oŶ / ऑटख़ ऺम बटन 

17)



Question Stimulus :­

MS PoǁeƌPoiŶt AppliĐa埱�oŶ alloǁs Ǉou to pƌoduĐe _____________. / MS PoǁeƌPoiŶt ए璀� लॎकॕषन आपकख़ _____
ोनोम挀�त करनॕ कॎ  ॏऺ ोशधॊ �दॊन करतॊ ऻॖ।

AŶiŵated PƌeseŶta埱�oŶs / एनॎमॕटॕड �ि捀�टॕषन

Paper Printouts of Slides / Ȁ लॊइड्ऺ कॕ पॕपर ों�टआउट्ऺ 

Notes foƌ the Speakeƌ / Ȁ पॎकर कॕ ोलए नख़ट्ऺ

All of the aďoǀe / उपरख़� त ऺभॎ

Correct Answer :­All of the aďoǀe / उपरख़� त ऺभॎ 

18)

Question Stimulus :­

IŶ EǆĐel Ϯ007, To ĐopǇ foƌŵaꘄŶg fƌoŵ oŶe aƌea iŶ a ǁoƌksheet aŶd applǇ it to aŶotheƌ aƌea Ǉou ǁould use
_____________. / EǆĐel Ϯ007 म捀�, शक挀� षॎट म捀� एक Ȁ थॊन ऺॕ फॗम捀�ोटंग कॗपॎ करनॕ तथॊ इऺॕ दॐ ऺरॕ Ȁ थॊन पर अ璀� लॊई करनॕ
कॕ ोलए आप ोनȀ न कॊ उपयख़ग कर捀� गॕ ­

Select Edit>Copy Format and Edit>Paste Format / Select Edit>Copy Format और  Edit>Paste
Format

SeleĐt CopǇ aŶd ApplǇ FoƌŵaꘄŶg dialog ďoǆ / SeleĐt CopǇ और ApplǇ FoƌŵaꘄŶg dialog ďoǆ

Theƌe is Ŷo ǁaǇ to ĐopǇ aŶd applǇ foƌŵaꘄŶg iŶ EǆĐel – You haǀe to do it ŵaŶuallǇ / EǆĐel म捀� फॗम捀�ोटंग कॗपॎ
तथॊ अ璀� लॊई करनॕ कॊ कख़ई तरॎकॊ नऻॎ ंऻॖ – आपकख़ इऺॕ मॖनॏअलॎ करनॊ ऻख़गॊ

The Foƌŵat PaiŶteƌ ďu城�oŶ oŶ the Hoŵe taď / ऻख़म टॖब पर फॗम捀�ट प捀�टर बटन

Correct Answer :­The Foƌŵat PaiŶteƌ ďu城�oŶ oŶ the Hoŵe taď / ऻख़म टॖब पर फॗम捀�ट प捀�टर बटन 

19)

Question Stimulus :­

WhiĐh ĐoŵŵaŶd is used to displaǇ all the files haǀiŶg the ;.eǆtͿ eǆteŶsioŶ ďut diffeƌeŶt fileŶaŵe? / ोकऺ कमॊंड कॊ
उपयख़ग ऺभॎ ए� ऺ ट捀�षन ;.eǆtͿ यॏ� त लॕोकन ोभ� न–ोभ� न फॊइलनॕम शॊलॎ फॊइ础� ऺ  कख़ ोडȀ 璀� लॕ करनॕ कॕ ोलए ोकयॊ जॊतॊ
ऻॖ?

Diƌ fileŶaŵe.*

Diƌ fileŶaŵe.eǆt

Diƌ *.sǇs

Diƌ *.eǆt

Correct Answer :­Diƌ *.eǆt 

20)

Question Stimulus :­

IŶ MS Woƌd, Ctƌl + N ______________. / MS Woƌd म捀� Ctƌl + N कॊ अथ挀� __________ ऻख़तॊ ऻॖ।



Saǀe DoĐuŵeŶt / ऺॕश ड� यॐम捀�ट

OpeŶ DoĐuŵeŶt / ओपॕन ड� यॐम捀�ट

Neǁ DoĐuŵeŶt / � यॐ ड� यॐम捀�ट

Close DoĐuŵeŶt / � लख़ि ड� यॐम捀�ट

Correct Answer :­Neǁ DoĐuŵeŶt / � यॐ ड� यॐम捀�ट 

21)

Question Stimulus :­

What is the use of Notes in MS PPT slides? / MS PPT  Ȁ लॊइड्ऺ म捀�, नख़ट्ऺ कॊ � यॊ उपयख़ग ऻख़तॊ ऻॖ?

It ǁill displaǇ at the 埱�ŵe of Slide PƌeseŶta埱�oŶ / यऻ Ȁ लॊइड �ि捀�टॕषन कॕ ऺमय ोडȀ 璀� लॕ ऻख़गॊ

This is just Note aďout the slide     / यऻ Ȁ लॊइड ऺॕ ऺंबंोधत कॕशल नख़ट ऻख़तॊ ऻॖ

This is just foƌ pƌiŶ埱�Ŷg puƌpose oŶlǇ / यऻ कॕशल ों�ोटंग कॕ उ綀ॕ�� य कॕ ोलए ऻख़तॊ ऻॖ

Notes ĐaŶŶot ďe iŶseƌted iŶ slides / नख़ट्ऺ Ȁ लॊइड्ऺ म捀� इ� ऺ ट挀� नऻॎ ंोकए जॊ ऺकतॕ ऻĀ

Correct Answer :­This is just Note aďout the slide     / यऻ Ȁ लॊइड ऺॕ ऺंबंोधत कॕशल नख़ट ऻख़तॊ ऻॖ 

22)

Question Stimulus :­

WhiĐh file staƌts MS Woƌd? / कग़न ऺॎ फॊइल MS Woƌd Ȁ टॊट挀� करतॎ ऻॖ?

ǁiŶǁoƌd.eǆe

ǁoƌd.eǆe

ŵsǁoƌd.eǆe

ǁoƌdϮ00ϯ.eǆe

Correct Answer :­ǁiŶǁoƌd.eǆe 

23)

Question Stimulus :­

Which of the following commands will allow you to set your Telnet password on a Cisco router? / ोनȀ न
म捀� ऺॕ कग़न ऺॊ कमॊंड आपकख़ ोऺȀ कख़ रॊउटर पर टॕलनॕट पॊऺशड挀� बनॊनॕ कॎ  ॏऺोशधॊ �दॊन करतॊ ऻॖ?

liŶe telŶet 0 ϰ

liŶe auǆ 0 ϰ

liŶe ǀtǇ 0 ϰ

liŶe ĐoŶ 0

Correct Answer :­liŶe ǀtǇ 0 ϰ 



24)

Question Stimulus :­

Which WLAN IEEE specification allows up to 54Mbps at 2.4GHz? / कग़न ऺॊ WLAN IEEE Ȁ पॕऺॎोफकॕषन
2.4GHz पर 54Mbps तक Ȁॎक॑त करतॊ ऻॖ?

802.11a

802.11b

802.11g

802..11n

Correct Answer :­802.11g 

25)

Question Stimulus :­

WhiĐh of the folloǁiŶg is ĐoƌƌeĐt SǇŶtaǆ? / ोनȀ न म捀� ऺॕ ऺऻॎ ोऺंटॖ� ऺ  � यॊ ऻॖ?

<a hƌef=͟h城�p://google.Đoŵ͟>MCQ Ques埱�oŶs</a>

<a hƌef liŶk =͟h城�p://google.Đoŵ͟>MCQ Ques埱�oŶs</a>

<a hƌef taƌget =͟h城�p://google.Đoŵ͟>MCQ Ques埱�oŶs</a>

<a hƌef=͟h城�p://google.Đoŵ͟ Title = ͞MCQ Ques埱�oŶs͟ /a>

Correct Answer :­<a hƌef=͟h城�p://google.Đoŵ͟>MCQ Ques埱�oŶs</a> 

Topic:­ General Logical Reasoning
1)

Question Stimulus :­

If paper is called wood, wood is called straw, straw is called grass, grass is called rubber and rubber is called cloth,
what are tyres made of? / योद paper को wood कहते ह╒, wood को straw कहते ह╒, straw को grass कहते ह╒, grass को  rubber
कहते ह╒ और rubber को  cloth कहते ह╒, तो tyresिकससे बने होते ह╒?

Rubber

Cloth

Grass

None of the above / उपयु└♣ म┼ से कोई नही ं

Correct Answer :­Cloth 

2)

Question Stimulus :­

If three men or four women can reap a field in 43 days, then, how many days will it take for seven men and
five women to complete the given task? / योद तॎन आदमॎ यॊ चॊर औरत捀�, 43 ोदनख़ ंम捀� फऺल कख़ कॊट ऺकतॕ ऻĀ। तख़
ऺॊत आदोमयख़ ंऔर पॊँच औरतख़ ंकख़ इऺ कॊय挀� कख़ पॐरॊ करनॕ म捀� ोकतनॊ ऺमय लगॕगॊ?



28 days / 28 ोदन

17 days / 17 ोदन

12 days / 12 ोदन

10 days / 10 ोदन

Correct Answer :­12 days / 12 ोदन 

3)

Question Stimulus :­

The series given below contains a sequence of numbers. Identify the INCORRECT combination: / नॎचॕ दॎ गई
Āं॑खलॊ म捀� ऺंĀॊओ ंकॊ 搀�म उपĀȀथत ऻॖ। गलत ऺंयख़जन पऻचॊोनयॕ: 
1, 3, 7, 15, 31, 62

7

62

31

15

Correct Answer :­62 

4)

Question Stimulus :­

Raju went 20 meters in the north direction, then 40 meters in the south, then 15
meters in west and then 15 meters in east direction. How far is he from the starting
point now? / रॊजॐ, उ礀�र ोदषॊ म捀� 20 मॎटर गयॊ, ोफर दोĀण म捀� 40 मॎटर गयॊ, ोफर पोȀम म捀� 15 मॎटर और ोफर पॐश挀�
म捀� 15 मॎटर चलॊ। अब शऻ आरंोभक ोबंदॏ ऺॕ ोकतनॎ दॐ रॎ पर ऻॖ?

15 meters / 15 मॎटर

20 meters / 20 मॎटर

25 meters / 25 मॎटर

10 meters / 10 मॎटर

Correct Answer :­20 meters / 20 मॎटर 

5)

Question Stimulus :­

If DEAF is coded XYUZ, then how is CAB coded? / योद DEAF कख़ XYUZ ऺॕ कख़ोडत ोकयॊ जॊतॊ ऻॖ, तख़ CAB  कख़ कॖऺॕ
कख़ोडत ोकयॊ जॊतॊ ऻॖ?

VWU  

UVW

XYU



WUV

Correct Answer :­WUV 

6)

Question Stimulus :­

The positions of the second and the eighth digits of the number 39128564 are interchanged. Similarly, the
positions of the fourth and the fifth digits are interchanged. The positions of the first and the sixth digits are
interchanged and the positions of the third and the seventh digits are interchanged. Which of the following will
be the third digit to the left of 3 after the arrangement? / 39128564 ऺंĀॊ कॕ दॐ ऺरॕ और आँठशॕ अंक कॕ Ȁथॊन कख़
आपऺ म捀� बदल ोदयॊ गयॊ। उऺॎ �कॊर, चग़थॕ और पॊँचशॕ अंक कॕ Ȁथॊन आपऺ म捀� बदल ोदयॕ गयॕ। पऻलॕ और छ्ठॕ अंक कॕ
Ȁथॊन, आपऺ म捀� बदल ोदयॕ गयॕ श तॎऺरॕ और ऺॊँतशॕ अंक कॕ Ȁथॊन आपऺ म捀� बदल ोदयॕ गयॕ। 巀�शȀथॊ कॕ बॊद ोनĀ म捀� ऺॕ
कग़न ऺॊ अंक, 3 कॕ बॊय捀� ऺॕ तॎऺरॊ अंक ऻख़गॊ?

2

4

6

8

Correct Answer :­6 

7)

Question Stimulus :­

The series given below contains a sequence of alphabets and numbers. Identify the INCORRECT combination: /
नॎचॕ दॎ गई Āं॑खलॊ म捀� अĀरख़ ंऔर ऺंĀॊओ ंकॊ 搀�म ोदयॊ गयॊ ऻॖ। गलत ऺंयख़जन पऻचॊोनयॕ:

i. acng8plo2o5op    ii. acng8plo2o5op     iii. acng8plo2o5op     iv. acngo8plo2o5op

i

ii

iii

iv

Correct Answer :­iv 

8)

Question Stimulus :­

A sum of money, invested at a certain rate, compounded annually doubles in 3 years. In how many years will it
become eight times its principal? / एक ोनोȀत दर पर ोनशॕोषत कॎ गई शॊोह挀�क च搀�श॑Ā﹀� रॊोष, 3 शह� म捀� दख़गॏनॎ ऻख़
जॊतॎ ऻॖ। ोकतनॕ शह� म捀�, शऻ अपनॕ मॐल कॕ आठ गॏनॊ ऻख़ जॊयॕगॎ?

9 years / 9 शह�

27 years / 27 शह�

24 years / 24 शह�

6 years / 6 शह�



Correct Answer :­9 years / 9 शह� 

9)

Question Stimulus :­

0

1

2

None of the above / उपयॏ挀�Ā म捀� कख़ई नऻॎ ं

Correct Answer :­1 

10)

Question Stimulus :­

The average of 10 numbers is 6. If each number is multiplied by 13, then the average of new set of numbers is:
/ 10 ऺंĀॊओ ंकॊ औऺत 6 ऻॖ। योद �婢ॕ�क ऺंĀॊ कख़ 13 ऺॕ गॏणॊ ोकयॊ जॊतॊ ऻॖ, तख़ ऺंĀॊओ ंकॕ नयॕ ऺॕट कॊ औऺत
ऻख़गॊ:

55

58

69

78

Correct Answer :­78 

11)

Question Stimulus :­

In the word 'INCUBATIONS' what is the difference between the number of letters preceding the first I and
succeeding the second I? / षĀ 'INCUBATIONS' म捀� पऻलॕ I ऺॕ पॐश挀� और दॐ ऺरॕ I कॕ बॊद कॕ अĀरख़ ंकॎ ऺंĀॊ म捀�
ोकतनॊ अंतर ऻख़तॊ ऻॖ?

0

1

2

3

Correct Answer :­3 

12)



Question Stimulus :­

Find the result when 1,200 is decreased by 30%. / 灀�ॊत कर捀�  कक 1,200 कख़ 30% ऺॕ घटॊनॕ पर क् यॊ पणोĀरॊ आएगॊ।

830

740

840

850

Correct Answer :­840 

13)

Question Stimulus :­

On dividing 4150 by a certain number, the quotient is 55 and the remainder is 25. The divisor is / 4150 कख़ एक
ोनोȀत ऺंĀॊ ऺॕ ोशभॊोजत करनॕ पर, भॊगफल 55 ऻॖ और षॕहफल 25 ऻॖ। भॊजक ऻॖ ­

65

70

75

80

Correct Answer :­75 

14)

Question Stimulus :­

Complete the series choosing the missing letter: / लॏࢀ� अĀर चॏनकर Āं॑खलॊ कख़ पॐरॊ कॎोजए: 

A, E, I, M, ______

Q

O

P

T

Correct Answer :­Q 

15)

Question Stimulus :­



Correct Answer :­  

16)

Question Stimulus :­

((72 × 2) / 4) ­ ((460/20) × 1) + ((45 × 2)/90) + (8/2) = ?



15

20

18

22

Correct Answer :­18 

17)

Question Stimulus :­

(21 × 3) / 7 ­ 4 × (15/5) ­ (30/2) × 15 = ?

­265

­228

­230

­250

Correct Answer :­­228 

18)

Question Stimulus :­

Complete the series choosing the missing number: / लॏࢀ� ऺंĀॊ चॏनकर Āं॑खलॊ कख़ पॐरॊ कॎोजए: 
67, 62, 56, 49, 41, ______

36

30

28

32

Correct Answer :­32 

19)

Question Stimulus :­

A car covers one­fourth of the distance at 25 kmph and the remaining distance at double the speed. If the total
time taken is 10 hrs, then find the total distance. / एक गॊीॎ, दॐ रॎ कॊ एक­चग़थॊई भॊग, 25 ोकमॎ �ोत घĀॕ कॎ चॊल
ऺॕ पॐरॊ करतॎ ऻॖ और षॕह दॐ रॎ, दख़गॏनॎ चॊल पर पॐरॊ करतॎ ऻॖ। योद लगनॕ शॊलॊ कॏ ल ऺमय, 10 घĀॕ ऻĀ, तख़ कॏ ल दॐ रॎ
ोनकॊोलयॕ।

100 km / 100 ोकमॎ.

200 km /200 ोकमॎ.

300 km / 300 ोकमॎ.

400 km / 400 ोकमॎ.



Correct Answer :­400 km / 400 ोकमॎ. 

20)

Question Stimulus :­

A mixture contains milk and water in the ratio 5 : 3. If 5 litres of milk is added to the mixture, the ratio
becomes 7 : 3. What is the quantity of milk in the new mixture? / एक ोमĀण म捀� दॐ ध और पॊनॎ, 5 : 3 कॕ अनॏपॊत म捀�
ऻख़तॕ ऻĀ। योद ोमĀण म捀� 5 लॎटर पॊनॎ डॊलतॕ ऻĀ, तख़ अनॏपॊत 7 : 3 बन जॊतॊ ऻॖ। नयॕ ोमĀण म捀� दॐ ध कॎ �ॊ मॊĀॊ ऻॖ?

12.5 litres / 12.5 लॎटर

15 litres / 15 लॎटर

17.5 litres / 17.5 लॎटर

20 litres / 20 लॎटर

Correct Answer :­17.5 litres / 17.5 लॎटर 

21)

Question Stimulus :­

The square of 98 is: / 98 कॊ शग挀� ऻॖ:

9,000

9,604

9,603

9,601

Correct Answer :­9,604 

22)

Question Stimulus :­

If 931785 is coded STEADY and 12345 is coded ENTRY, then how is SEDATE coded? /
यिद 931785 कख़ STEADY ऺॕ कख़ोडत ोकयॊ जॊतॊ ऻॖ और 12345 कख़ ENTRY ऺॕ कख़ोडत ोकयॊ जॊतॊ ऻॖ, तख़ SEDATE
कख़ कॖऺॕ कख़ोडत ोकयॊ जॊतॊ ऻॖ?

725892

918731

948155

841591

Correct Answer :­918731 

23)

Question Stimulus :­



The ratio of father's age to son's age is 3 : 1. The product of their ages is 243. The ratio of their ages 9 years hence,
will be: / ोपतॊ और बॕटॕ कॎ  आयॏ कॊ अनॏपॊत 3 : 1 ऻॖ। उनकॎ आयॏ कॊ गॏणनफल 243 ऻॖ। 9 शह� कॕ बॊद उनकॎ आयॏ कॊ
अनॏपॊत ऻख़गॊ:

3 : 1

2 : 1

5 : 3

4 : 1

Correct Answer :­2 : 1 

24)

Question Stimulus :­

Find the odd one out: / एक ोशहम 灀�ॊत कॎोजए:

Air and oxygen / ऻशॊ और ऑ�ॎजन

Teacher and student / अĀ�ॊपक और ोष�

Mathematics and geometry / गोणत और Āॊोमोत

Flower and petal / फॐ ल और पंखॏडॎ

Correct Answer :­Teacher and student / अĀ�ॊपक और ोष� 

25)

Question Stimulus :­



Correct Answer :­  

Topic:­ General Management
1)

Question Stimulus :­

A group of people work together to achieve a wide variety of goals. It has a multi­tiered structure to coordinate
their actions and ensure the desired future outcomes. Which of the following terms best describes such a collection
of people?  लख़गख़ ंकॊ एक ऺमॐऻ ोश擀॑�त ोशोशधतॊ ल樀�ख़ ंकॎ �ॊĀࢀ� कॕ ोलए, एक ऺॊथ कॊम करतॊ ऻॖ। इऺम捀� उनकॕ कॊय� कॕ
ऺमĀय और भोश� म捀� शॊंोछत पĀरणॊम  ॏऺोनोȀत करनॕ कॕ ोलए एक बĀ­擀�रॎय ऺंरचनॊ भॎ ऻॖ। ोनĀोलĀखत म捀� ऺॕ, कग़न ऺॊ पद
ऺबऺॕ बॕऻतर ढंग ऺॕ ऐऺॕ ऺमॐऻ कॊ शण挀�न करतॊ ऻॖ?

Employees / कम挀�चॊरॎ

Organisation / ऺंगठन

Strategic Goals/ ऺॊमĀरक ल樀�

Work specialization / कॊम ोशषॕह灀�तॊ

Correct Answer :­Organisation / ऺंगठन 

2)

Question Stimulus :­

Variability in the rate of return is known as / �ोतफल दर म捀�, पĀरशत挀�नषॎलतॊ __________कॕ �प म捀� जॊनॎ जॊतॎ ऻॖ।

Return / �ोतफल

Risk / जख़Āखम

Interest / Āॊज

Volatility / अĀȀथरतॊ

Correct Answer :­Risk / जख़Āखम 

3)

Question Stimulus :­



Management accounting is a / �बंधन लॕखॊंकन ऻॖ

Post mortem duty / पख़Ȁमॊट挀�म �ॐटॎ

Accounting for future / भोश� कॕ ोलए लॕखॊंकन

Accounting for today / शत挀�मॊन कॕ ोलए लॕखॊंकन

Reflects the position of a business in its entirety / अपनॎ ऺंपॐण挀�तॊ म捀� ोकऺॎ 巀�ॊपॊर कॎ ĀȀथोत कख़ दषॊ挀�तॊ ऻॖ।

Correct Answer :­Accounting for future / भोश� कॕ ोलए लॕखॊंकन 

4)

Question Stimulus :­

When a company gives fixed amount of percentage from the earnings of the company, it is called as
________. /  जब कख़ई कंपनॎ,  उऺकॎ आय ऺॕ ोनयत रॊोष कॊ �ोतषत �दॊन करतॎ ऻॖ, तब यऻ _________ कऻलॊतॎ ऻॖ।

Dividend tax policy / लॊभॊंष कर नॎोत

Dividend right ratio policy / लॊभॊंष ऺऻॎ अनॏपॊत नॎोत

Dividend Payout ratio policy / लॊभॊंष भॏगतॊन अनॏपॊत नॎोत

Dividend Buyout Ratio policy / लॊभॊंष 搀�य अनॏपॊत नॎोत

Correct Answer :­Dividend Payout ratio policy / लॊभॊंष भॏगतॊन अनॏपॊत नॎोत 

5)

Question Stimulus :­

In which of these forecasting techniques are past staffing levels used to project future human resource
requirements? / इनम捀� ऺॕ ोकन पॐशॊ挀�नॏमॊन तकनॎकख़ ंम捀� अतॎत कॕ Ȁॊफ 擀�रख़ ंकॊ �यख़ग भोश� कॕ मॊनश ऺंऺॊधन
आश恀�कतॊओ ंकॕ �Āॕपण म捀� ोकयॊ जॊतॊ ऻॖ?

Regression analysis / �ोतगमन ोशȀॕहण

Time series analysis / कॊल Āॕणॎ ोश� लॕहण

HR budgets / एचआर बजट

Nominal group method / नॊममॊĀ ऺमॐऻ ोशोध

Correct Answer :­Time series analysis / कॊल Āॕणॎ ोश� लॕहण 

6)

Question Stimulus :­

The pƌoĐess of staŶdaƌdiziŶg joďs ďǇ laǇiŶg doǁŶ ƌules aŶd pƌoĐeduƌes to ďe adheƌed to is Đalled ___________/
पॊलन ोकए जॊनॕ शॊलॕ, ोनयमख़ ंऔर �ो搀�यॊओ ंकॕ ऺॊथ नग़कĀरयख़ ंकॎ मॊनकॎकरण �ो搀�यॊ ____________ कऻलॊतॎ ऻॖ।

Formalisation / औपचॊĀरकॎकरण

Centralisation / कॕЀ�ॎकरण



Decentralisation / ोशक捀� 撀�ॎकरण

Work specialization / कॊम ोशषॕह灀�तॊ

Correct Answer :­Formalisation / औपचॊĀरकॎकरण 

7)

Question Stimulus :­

Basic objective of financial management is / ोश礀�ॎय �बंधन कॊ मॐल उ綀ॕ�恀� ऻॖ:

Profit maximization / लॊभ अोधकतमॎकरण

Wealth maximization / ऺंपĀ牀� त अोधकतमॎकरण

Discharging social responsibilities / ऺॊमॊोजक उ礀�रदॊोयĀख़ ंकॊ ोनश挀�ऻन

Building assets for the business / 巀�ॊपॊर कॕ ोलए पĀरऺंपो礀�यख़ ंकॊ ोनमॊ挀�ण

Correct Answer :­Wealth maximization / ऺंपĀ牀� त अोधकतमॎकरण 

8)

Question Stimulus :­

The relationship between the firms EBIT and earnings available for shareholders is known as / 
 कंपोनयख़ ंकॕ ईबॎआईटॎ और षॕयरधॊरकख़ ंकॕ ोलए उपलĀ आय कॕ बॎच ĀरȀॕ कख़___________ �प म捀� जॊनॊ जॊतॊ ऻॖ।

Operating leverage / पĀरचॊलन �भॊशन Āमतॊ

Financial leverage / ोश礀�ॎय �भॊशन Āमतॊ

Combined leverage / ऺंयॏĀ �भॊशन Āमतॊ

Accounting rate of return / �ोतफल लॕखॊंकन दर

Correct Answer :­Financial leverage / ोश礀�ॎय �भॊशन Āमतॊ 

9)

Question Stimulus :­

Bonus shares are issued to / बख़नऺ षॕयर, जॊरॎ ोकए जॊतॕ ऻĀ:

Existing employees at free of cost / मग़जॐदॊ कम挀�चॊĀरयख़ ंकख़ मॏĀ म捀�

Existing employees at a less cost / मग़जॐदॊ कम挀�चॊĀरयख़ ंकख़ कम लॊगत पर

New shareholders free of cost / नयॕ षॕयरधॊरकख़ ंकख़ मॏȀ म捀�

New shareholders at a discounted price / नयॕ षॕयरधॊरकख़ ंकख़ Āरयॊयतॎ मॐ孀� पर

Correct Answer :­Existing employees at free of cost / मग़जॐदॊ कम挀�चॊĀरयख़ ंकख़ मॏĀ म捀� 

10)

Question Stimulus :­



Who is a whistle­blower? / ोश楀�ल Āख़शर यॊ मॏखोबर कग़न ऻख़तॊ ऻॖ ­

An employee who announces at the end of the day that it is time to wind up and leave office / शख़
कम挀�चॊरॎ जख़ ोदन कॕ आĀखर म捀� कॊम कख़ ख़Ā करनॕ और ऑोूऺ छख़ीनॕ कॎ घख़हणॊ करॕ।

An employee who monitors the activities in the office and reports any security lapses / शख़ कम挀�चॊरॎ
जख़ कॊयॊ挀�लय कॎ गोतोशोधयख़ ंपर निर रखतॊ ऻॖ और ोकऺॎ भॎ तरऻ कॎ  ॏऺरĀॊ खॊोमयख़ ंपर Āरपख़ट挀�  �擀�ॏत करतॊ ऻॖ।

An employee who alerts other colleagues on observing smoke in the office premises and takes step to prevent
spreading / शख़ कम挀�चॊरॎ जख़ कॊयॊ挀�लय पĀरऺर म捀� धॏआं दॕख कर अĀ ऺऻयख़ोगयख़ ंकख़ ऺचॕत करतॊ ऻॖ और उऺॕ फॖलनॕ ऺॕ
रख़कनॕ कॕ ोलए �बंध करतॊ ऻॖ।

An employee who discloses illegal or unethical conduct on the part of others in the organization /
शख़ कम挀�चॊरॎ जख़ ऺंगठन म捀� अĀ लख़गख़ ंकॎ ओर ऺॕ अशॖध यॊ अनॖोतक आचरण कॊ खॏलॊऺॊ करतॊ ऻॖ।

Correct Answer :­An employee who discloses illegal or unethical conduct on the part of others in the
organization / शख़ कम挀�चॊरॎ जख़ ऺंगठन म捀� अĀ लख़गख़ ंकॎ ओर ऺॕ अशॖध यॊ अनॖोतक आचरण कॊ खॏलॊऺॊ करतॊ ऻॖ। 

11)

Question Stimulus :­

The preferred technique for evaluating most capital investments is _____________. / अोधकतर पॐँजॎ ोनशॕषख़ ंकॕ
मॐ孀�ॊंकन कॕ ोलए अोधमॊĀ तकनॎक _____________ ऻॖ।

payback period/ भॏगतॊन शॊपऺॎ कॎ अशोध

discount payback period / Āरयॊयत भॏगतॊन शॊपऺॎ अशोध

internal rate of return / �ोतफल कॎ आंतĀरक दर

net present value / ोनशल शत挀�मॊन मॐ孀�

Correct Answer :­net present value / ोनशल शत挀�मॊन मॐ孀� 

12)

Question Stimulus :­

Which of the following is an organization that the society has created to fulfil its needs? / ोनĀ म捀� ऺॕ कग़न ऺॊ एक
ऺंगठन ऻॖ ोजऺॕ ऺमॊज नॕ अपनॎ आश恀�कतॊओ ंकख़ पॐरॊ करनॕ कॕ ोलए बनॊयॊ ऻॖ?

Structure / ऺंरचनॊ

Management / �बंधन

Business / 巀�शऺॊय

Strategy / कॊय挀�नॎोत

Correct Answer :­Business / 巀�शऺॊय 

13)

Question Stimulus :­

The value of a fixed asset after deducting depreciation from the historical cost is called_____________. /  अतॎतॊथ挀�क
लॊगत ऺॕ मॐ孀�Āॊऺ घटॊनॕ कॕ बॊद एक Ȁथॊयॎ पĀरऺंपĀ牀� त कॊ मॐ孀� _____________ कऻलॊतॊ ऻॖ।



Fair value / उोचत मॐ孀�

Book value / ोलĀखत मॐ孀�

Market value / बॊिॊर मॐ孀�

Net realisable value / षॏ﹀� श ॐऺलॎ यख़� मॐ孀�

Correct Answer :­Book value / ोलĀखत मॐ孀� 

14)

Question Stimulus :­

The focal point in marketing is _________./ मॊक捀� ोटंग यॊ ोशपणन म捀� कॕ� 撀� ोबंदॏ  __________ऻख़तॊ ऻॖ।

Sales / ोब搀�ॎ

Profit / लॊभ

Customer / Āॊऻक

Marketing Manager / मॊक捀� ोटंग �बंधक

Correct Answer :­Customer / Āॊऻक 

15)

Question Stimulus :­

Which of these is an on­the­job training method where the trainee is placed on various jobs across different
functions in the organization? / ोनĀ म捀� ऺॕ कग़न अंत:कॊय挀� �ोषĀण ोशोध ऻॖ जऻॊं �ोषĀॏ कख़ ऺंगठन कॕ ोशोभ虀� कॊय� पर
ोशोभ虀� नग़कĀरयख़ ंम捀� रखॊ जॊतॊ ऻॖ?

Job instruction training / कॊय挀� अनॏदॕष �ोषĀण

Coaching / अनॏोषĀण

Committee assignments / ऺोमोत कॕ कॊय挀�

Job rotation / कॊयॊ挀�शत挀�न

Correct Answer :­Job rotation / कॊयॊ挀�शत挀�न 

16)

Question Stimulus :­

The returns shareholders get in the form of cash in public limited companies is termed as / पĀĀक ोलोमटॕड
कंपोनयख़ ंम捀� नकदॎ कॕ �प म捀� षॕयरधॊरकख़ ंकख़ शॊपऺॎ �ॊ璀� त ऻख़नॊ कऻलॊतॊ ऻॖ

Profits / लॊभ

Dividends / लॊभॊंष

Interest / Āॊज

Earnings per share / �ोत षॕयर आय



Correct Answer :­Dividends / लॊभॊंष 

17)

Question Stimulus :­

Who coined the term 'Marketing Mix' / ोकऺनॕ 'ोशपणन ोमĀण' षĀ कख़ �ोतपॊोदत ोकयॊ?

James Culliton/  जॕȀ ऺ  कॏ 础� लॎटॗन

Philip Kotler/  ोफोलप कख़टलर

Perreault/  पॕर捀�एयॐ姀�

McCarthy  / मॖकॊथĀ

Correct Answer :­Philip Kotler/  ोफोलप कख़टलर 

18)

Question Stimulus :­

In which of these individual evaluation methods, the performance is assessed on effective or ineffective
performance incidents? / इनम捀� ऺॕ ोकऺ 巀�ĀȀ ट मॐ孀�ॊंकन ोशोध म捀�, �भॊशॎ यॊ अ�भॊशॎ ोनȀॊदन कॎ घटनॊओ ंपर
मॐ孀�ॊंकन ोकयॊ जॊतॊ ऻॖ?

Management by objectives (MBO) / उ綀ॕ�� य आधॊĀरत �ब� धन (MBO)

Weighted checklists / भॊĀरत ोचऻ ्नॊंकन  ॐऺचॎ

Critical incident technique / ोनणॊ挀�यक �ऺंग �ोशोध

Behaviourally anchored rating scale (BARS) / 巀�शऻॊरशॊदॎ ĀȀथरक ोनधॊ挀�रण मॊपनॎ (BARS)

Correct Answer :­Critical incident technique / ोनणॊ挀�यक �ऺंग �ोशोध 

19)

Question Stimulus :­

What is a siŶgle‐use plaŶ? / एकल‐�यख़ग यख़जनॊ �ॊ ऻॖ?

TheǇ aƌe the plaŶs aiŵed at aĐhieǀiŶg speĐifiĐ goals. / यॕ ोशोषȀ ल樀�ख़ ंकख़ �ॊࢀ� करनॕ कॕ उ綀ॕ�恀� ऺॕ बनॎ
यख़जनॊय捀� ऻĀ।

These aƌe the plaŶs pƌoǀidiŶg guidaŶĐe foƌ peƌfoƌŵiŶg ƌeĐuƌƌiŶg aĐ埱�ǀi埱�es. / आशतĀ गोतोशोधयख़ ंकॕ ोनȀॊदन
कॕ ोलए, यॕ यख़जनॊय捀� मॊग挀�दष挀�न �दॊन करतॎ ऻĀ।

A plan designed for the entire organisation in mind  / ऺंपॐण挀� ऺंगठन कॕ ोलए �पॊंोकत यख़जनॊ ऻॖ।

It is plaŶ ĐoŶĐeƌŶed ǁith ƌespoŶsiďilitǇ aŶd fuŶĐ埱�oŶalitǇ of loǁeƌ leǀels / यऻ शऻ यख़जनॊ ऻॖ जख़ ोनचलॕ 擀�र कॎ
ोिĀॕदॊरॎ और कॊय挀�Āमतॊ कॕ ऺॊथ ऺंबंोधत ऻॖ।

Correct Answer :­TheǇ aƌe the plaŶs aiŵed at aĐhieǀiŶg speĐifiĐ goals. / यॕ ोशोषȀ ल樀�ख़ ंकख़ �ॊࢀ� करनॕ कॕ उ綀ॕ�恀�
ऺॕ बनॎ यख़जनॊय捀� ऻĀ। 

20)



Question Stimulus :­

AffeĐ埱�ǀe ĐoŵpoŶeŶt is ƌelated to________.  /  भॊशॊĀक घटक _______ ऺॕ ऺंबंोधत ऻॖ

ThiŶkiŶg aŶd Eǀalua埱�oŶ / ऺख़च तथॊ मॐ孀�ॊंकन

Feelings and Emotions  / भॊशनॊ तथॊ ऺंशॕग

Intention to behave in certain way towards someone  /  ोकऺॎ 巀�ĀĀ कॕ ऺॊथ एक ोनोȀत तरॎकॕ ऺॕ पॕष आनॕ कॕ
इरॊदॕ

None of the above  /  उपरख़Ā म捀� ऺॕ कख़ई नऻॎ ं

Correct Answer :­Feelings and Emotions  / भॊशनॊ तथॊ ऺंशॕग 

21)

Question Stimulus :­

Which of the following techniques is defined as the process of comparing one’s business process and
performance with industry’s best practice from other firms? / ोनĀ म捀� ऺॕ कग़न ऺॎ तकनॎक, एक 巀�शऺॊय �ो搀�यॊ
और ोनȀॊदन कॎ दॐ ऺरॕ �ोत技�ॊन कॕ Āॊरॊ ोदए उ@�ख़ग कॕ ऺश挀�Āॕ技� �दष挀�न, कॕ ऺॊथ तॏलनॊ कॎ �ो搀�यॊ कॕ �प म捀� पĀरभॊोहत
कॎ जॊतॎ ऻॖ?

Overall performance control / ऺमĀ ोनȀॊदन ोनयंĀण

Costing / लॊगत ोनधॊ挀�रण

Benchmarking / ब捀�चमॊोकĀ ग

Balanced scorecard / ऺंतॏोलत Ȁ कख़रकॊड挀�

Correct Answer :­Benchmarking / ब捀�चमॊोकĀ ग 

22)

Question Stimulus :­

Foƌ iŵpƌoǀeŵeŶt iŶ the ƋualitǇ of the pƌoduĐt oƌ seƌǀiĐe offeƌed ďǇ a ďusiŶess, feedďaĐk fƌoŵ ǁhiĐh of the
folloǁiŶg is ŵost iŵpoƌtaŶt? एक 巀�शऺॊय Āॊरॊ, उĀॊद यॊ ऺॕशॊ कॎ गॏणश礀�ॊ म捀�  ॏऺधॊर कॕ ोलए, ोनĀ म捀� ऺॕ ोकऺकॕ Āॊरॊ
ोमलॎ �ोतो搀�यॊ ऺबऺॕ मऻĀपॐण挀� ऻॖ?

Shareholders / षॕयरधॊरक

Employees / कम挀�चॊरॎ

Customers / Āॊऻक

Managers / �बंधक

Correct Answer :­Customers / Āॊऻक 

23)

Question Stimulus :­

WhiĐh of the folloǁiŶg aƌe keǇ featuƌes of aŶ oƌgaŶisa埱�oŶ? / उȀॕख कर捀�  ोक कग़न ऺॊ ोशक嬀� ऺंगठन कॎ �मॏख
ोशषॕहतॊय捀� ऻĀ?



SoĐial IŶǀeŶ埱�oŶ oŶlǇ / ोऺफ挀�  ऺॊमॊोजक अोश戀�ॊर

AĐĐoŵplishiŶg goals oŶlǇ / ोऺफ挀�  ल樀�ख़ ंकख़ पॐरॊ करनॊ

Group efforts only  / ोऺफ挀�  ऺमॐऻ �यॊऺ

All of the aďoǀe / उपरख़Ā ऺभॎ

Correct Answer :­All of the aďoǀe / उपरख़Ā ऺभॎ 

24)

Question Stimulus :­

The cost of capital is______________ / पॐँजॎ कॎ लॊगत _____________

used as an evaluation tool / एक मॐ孀�ॊंकन ऺॊधन कॕ �प म捀� �यॏĀ ऻख़तॎ ऻॖ।

based on the present cost obligations of the firm / �ोत技�ॊन कॎ शत挀�मॊन लॊगत बॊĀ�तॊ पर आधॊĀरत ऻख़तॎ ऻॖ।

the cost of long­term investment / दॎघ挀�कॊलॎन ोनशॕष कॎ लॊगत ऻॖ।

the cost of maintaining the bureaucrats / नग़करषॊऻख़ ंकख़ बनॊए रखनॕ कॎ लॊगत ऻॖ।

Correct Answer :­used as an evaluation tool / एक मॐ孀�ॊंकन ऺॊधन कॕ �प म捀� �यॏĀ ऻख़तॎ ऻॖ। 

25)

Question Stimulus :­

____________ aƌe ŵaĐƌo‐leǀel aĐ埱�oŶ plaŶs of aŶ oƌgaŶisa埱�oŶ foƌ iŶteƌaĐ埱�Ŷg ǁith the eŶǀiƌoŶŵeŶt iŶ oƌdeƌ to
aĐhieǀe loŶg teƌŵ goals. / ____________, दॎघ挀� कॊोलक ल樀�ख़ ंकख़ �ॊࢀ� करनॕ कॕ ोलए शॊतॊशरण कॕ ऺॊथ,
अĀख़Āो搀�यॊ ऻॕतॐ एक ऺंगठन कॎ ऺमĀȀ ट­擀�र कॊर挀�शॊई यख़जनॊ ऻख़तॎ ऻĀ।

Objectives / उ綀ॕ�恀�

Strategies / रणनॎोतयॊँ (यॏĀ� त)

Structure / ऺंरचनॊ

Actions / कॊर挀�शॊई

Correct Answer :­Strategies / रणनॎोतयॊँ (यॏĀ� त) 


